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QUESTION PAPER FOR THE SELECTION FOR THE POST OF JE/DSL/MECH/TNP IN
LEVEL 6 OF PAY MATRIX VII PC AGAINST 25% PROMOTIONAL QUOTA,
MECHANICAL DEPARTMENT, CHENNAI DIVISION

DATE : 20.04.2021 TIME: 15.00 hrs. to 17.00 hrs.

DURATION : 2 HRS MAXIMUM MARKS : 100

GENERAL INSTRUCTIONS

1. Candidates should write their name, designation, office, roll number/staff number, etc.,
only in the space provided in the fly leaf and not in any of the page in the answer books
or additional sheets.

2. If any answer book is found with name(s)/roll number(s) other than in the space
provided, the answer book will not be evaluated and the candidate will be disqualified.

3. Candidates should answer only 100 questions. If more than 100 questions are
answered, only the first 100 answers will be evaluated.

4. Answering of questions on Official Language is NOT COMPULSORY.

5. There will be no negative marking for incorrect answers.

6. The answers to be written only as A/B/C/D (only in capital letters as given in the
Question Paper). Part headings, if any given in the Question Paper, the same should be
written by the candidates in the answer sheet.

7. In the answers tpo the objective type questions, no correction of any type like (i) cutting
(if) overwriting (iii) erasing (iv) scoring off a ticked answer in multiple choice and ticking
another answer and (v) modifying the answer in any way is permitted. Such answers will
not be evaluated at all.

8. Candidates are not allowed to keep mobile phones/Electronic gadgets or any other
documents/papers within the examination hall. If found carrying such equipment, their
candidature will be cancelled.

9. Candidates may take the question paper with them after the examination is over.

. FILL IN THE BLANKS
1. No. of vertical damper in WDG3A per truck is

A Two B Four
C Three D Eight



10.

11.

Suspension bearing are lubricated by in WDM2.

A Wickpad B Grease
C RR606 oil D  None of these

Traction Bar is available in

A WDM3A B  WDG3A
C WPEA D WDG4

prevents separation of bogie and chassis during accident in WDG3A.

A U pin B  Split collar pin
C D-Shackle D  Vertical damper

‘H’ type bolster is available in

A WDM3A B WDG3A

C - WP3A D WDG4

To avoid brake pull rod falling down on run, is available.
A Safety bracket B Cclamp

C D-Shackle D  Traction bar
Snubber assembly is available at in WDM2 locos.

A Left coil spring B  Right coil spring

C Centre pivot D Gearcase

During cranking, if OSTA tripped, engine will not

A Crank B  Fire

C No change D  None of these
PCS will open if BP PR drops below kg/em?.

A 2.8 B 42

C 35 D &

Engine will shutdown if drops below kg/cm?.
A FOP, 1.5 B LOP. 13

C FOP, 1.3 D 10P, 18

handle to be pulled to reset OSTA.

A9 B Hand brake
Trip D Reset

o>



12. LLOB trip button is available in

A WW Gov B MCBG Gov
C EPG D  None of these
13. Over ride switch is available in unit.
A EWLI B  Centrifuge
C LLOB D  Maotti filter
14. If crank case explosion door is open, is to be done.
A Work the ioco B  Enginetoidle
C Shut down and inform Shed D  None of these
15. Over ride switch is normally in position.
A ON B OFF
C Trip D  None of these
16. ALP has to check valve while TOC and recorded in repair book.
A A9 valve B D1 emergency valve
C SA9 D  Safety valve
17. 1f VCD operated in MU trail loco handle is required to reset.
A A9 B Reversor
C Trip D SA9
18. While starting, the to start first when banker loco is attached with rear.
A Lead loco LP B Banker LP
C Both of them D  None of these
19. VCD can be reset by in ALCO loco.
A Reset switch B  A9valve
C SA9 valve D  MUSD switch
20. If battery discharged in rear loco, indication comes in lead loco.
A LED indication B No indication
C Buzzer D  None of these
21. In Banker loco, coc to be in closed condition to avoid dual charging.
A BP isolation Coc B A9 Coc

(@ PCS Coc D EPG Coc



22.

23

24

25

2

D

27.

28.

29

30

3

—_

nos. of fire extinguisher are available in loco.
A Two B  Four
C Three D Eight
. Reading are taken in every minutes while working.
A 20 min B 10 min
C 30 min D 40min
. Locking of coupling is ensured by in the H type coupling. v
A Blocked V groove passage B  Clear V groove passage
C No indication D None of these
. After securing coupling, pin to be secured.
A Knuckle pin B  Clevis pin
C Coupling safety pin D  None of these
. If lock lifting lever is in bent position, may not be opened.
A Coopers coupling B  Fast coupling
C CBC coupling D  Universal coupling
protects separation of bogie and chassis during accident in WDM2.
A D-shackle B U clamp and bogie collar pin
C Catche assembly D  None of these
valve is used to protect pump and motor in fuel oil system.
A Relief valve B  Byepass valve
C Regulating valve D  None of these
. Fuel efficient engine will have turbos. A
A ABB or GE B  Alco 720
C Alco 350 D  None of these
. In some locos when BP is normal, but TH not responding LP has to
A Switch on MU2B toggle switch B  Change MU2B to trail
C No action D None of these
. DMR will get energized when BP increases to above kg/lcm?.
A 2.8 B 42
C 3.5 D 5



32.

33.

34.

35.

36.

37.

38.

39.

40.

In MU trail loco, while applying A9 in full service BC increases to kg/cm?.

A 2.8 B 138

C 3.5 D 5

In dead loco, when MR & BC equalizers are connected while applying SA9 full BC

increases to kg/cm?.

A 2.8 B 42

C 3.5 D ‘5

AFI1 will not shoot up in and operations.

A SA9 & A9 B SA9&VCD

C A9 & VCD D  None of these

When A9 is applied to emergency position, formation brake will get maximum of
kg/cm2.

.\ 1.8 B 38

C 3.5 D15

To avoid jerk and flat tyre, brake should not be allowed on running train.

A A9 B SA9

C D-1 emergency D  None of these

On run if MU loco parted both the loco will get brake application due to the action of
valve in position.

A MU2B & TRAIL B  F1 selector & Auto lead

C MU2B & Auto Lead D  None of these

BP drops without AFI indicates

A SA9 defect B VCD

C C3W defect D  None of these

For quick release of conjunction brake LP has to

A Press foot pedal B  Charge BP

C No operation D  None of these

When VCD is operated BP drops to kg/cm2 in IRAB.

A 28 B 30

C 3.5 D 42



41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

Brake feel test to be conducted in
A Block B
C Mid D

During DB, while applying A9 emergency

A Conjunction B
C No brake D

While conducting brake feel test,

A Conjunction B
C No brake D

If BP coc is closed, BP gauge will indicate

A 5 B
C 6 D

Fuel booster pump of ALCO loco is located at

A Undertruck B
C Nose compartment D

While conducting Brake continuity test,

A MR. Eq B
& BP isolation coc D

Inlet, outlet and byepass COC is available in

A EPG B
C Centrifuge D
If CCEM fails on run will burst.

A Crank case inspection door B
C Explosion door D

In Lube oil system, Regulating valve set at

A 9.1 B
C 53 D
LLOB trips at kg/cm? and set at

A 16 &1.3 B

C 2.8 &4.2 D

section.

Station
None of these

brake is also applied.

SA9 brake
None of these

must be nullified.

SA9 brake
None of these

kg/cm?.

Zero
None of these

room.

Compressor
Engine room

coc must be closed.

BC.Eq
None of these

unit.

Maotti Filter
Air dryer

Radiator room door
None of these

kg/cm?.

7.5
None of these

kg/cm?.

13 &1.6
None oi these



91.

52.

53.

54.

55.

56.

57.

58.

59.

Water entry into the lube oil is indicated through

exhaust.

A Black
C Bluish green

If Cyclonic filter is blocked,

A FOP
C BAP

In WDM2 loco at 74°C
up, engine comes to

B
D

B
D

will pick up and at 90.5°C

®

smoke from CCEM

White
None of these

will not build up.

LOP
None of these

will pick

A TS1, ETS, shut down B TS1,TS2, idle

C TS2, ETS, idle D  None of these
Lube oil Relief valve set at

A 9.1 kg/cm? B  7.5kg/em?

C 4.1 kg/cm2 D 5.3 kg/lcm2
Water contamination in the lube oil leads to drops.’

A BAP B FOP

C LOP D  Hauling power
Axles are counted from to

A Power-take-off end to free end B  Free end to power take off end
C SHto LH D LHtoSH
Radiator room door opening may lead to in ALCO locos.
A Engine shut down B  Hot engine alarm
C Less BAP D LessFOP

If loco brake is not releasing,

A Release QRV B  Press foot pedal
C Press Run/Release switch D  Charge BP fully
When isolating C3W distributor valve coc in dead loco

A MR not charge
C BP not charged

B
D

Conjunction pressure not charged
BC not charged

60. The Duplex valve will open and allow the air, provided MR pressure should be more than

kg/cm?.

A 3

B

10



61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

C 5
On run,
A Brakes will get released
C Brakes, late application
Normal position of the additional BP coc is

A Open and sealed
C Closed and sealed

Sensing pressure of DV to apply brake is

6

if BP increased beyond 5kg/cm2 during A9 application and

Brakes will not get released
Brakes, late release

Closed
None of these

A 0.6 kg/cm?/60 sec.

0.3 kg/cm?/ 6 sec.

3 0.3 kg/cm?/60 sec. 0.6 kg/cm?/6 sec.
Suspension bearing oil is not available in locos.
A WDP3A WDM?7
C WDM3A WDM?2
OSTA has no. of handles.
A 04 03
C 02 01
is connected to right camshaft.
A Lube oil pump Water pump
C Vibration damper OSTA
In type coupling, removal of clevis pin is eliminated.
A E type Modified H type
C H type Modified E type

The reverse flow of air from MR2 to MR1 is prevented by

A Safety valve
C NRV

Centrifugal oil cleaner is used to filter

N1 reducing valve
None of these

in Lube oil system.

A Carbon particles
C Fine dust

Coarse dust
None of these

No. of inlet valves in Cylinder head of WDM2 loco are

A 03

02

release



C 04 D None
71. Push rods are provided to operate

A FIP B Rocker arm
C OSTA D Valve seats

72. Type of water pump used in Diesel loco is

A Gear type B  reciprocating
C Centrifugal tye D Rotary type

73. Type of cylinder liners used in ALCO loco are

A Wet type B  Drytype
C Both A and B D Rotary type

74. Pinion and Bull gear are covered by

A Gear case B Resilient pad
C Traction bar D  None of these
75. Minimum wheel diameter is mm.
A 1050 B 1000
C 1016 D 1092
76. During dynamic braking, loco brake is nullified by valve.
A F1 selector B D1 pilot air valve
C MU2B D C3w
77. WDS6 loco consists of no. of engine cylinders.
A 8 B 16
C 6 D 12

78. Which type of bogie is used in WDM2 loco?

A Bi-mount B Tri-mount
= Uni-mount D None of these

79. Additional C-2 relay valve is used in air brake system of ALCO locos for

A MR pipe charging B  BP pipe charging
C Feed pipe charging D  None of these

80. The number of radiator fan available in ALCO locos is

A 3 B 2
& 1 D None of these



81. Firing order of ALCO Diesel engine is

A 14768523RI/L B 14678523RI/L
C 14768253RI/L D 14765823RI/IL

82. Insensitivity of DV is

A 0.6 kg/cm? in 6 secs. B 0.3 kg/cm? in 60 secs.

C 0.6 kg/cm? in 60 secs. D 0.5 kg/cm? in 60 secs.
83. Torque value of water jumper in ALCO loco is (in ft-1b)

A 50 B .75

C 100 D 1256
84. In ALCO loco, fuel oil regulating valve is set at kg/em?.

A 3 B 42

C 5 B -0

85. Breather valve is provided on

A Governor B LPCab
C Compressor D  Main generator

86. Cam gears are lubricated by

A Main header B  Auxiliary header
8 Both A and B D None of these

87. The safety device provided in brake system is

A LLOB B PCS
C OSTA D LWS
88. In IRAB1 system, SA9 feed valve has no. of positions.
A 2 B 5
C 4 D3
89. During A9 Emergency position, BP becomes kg/cm® and BC becomes
kg/cm?.
A 0&1.8 B 5 &35
C 25&0 D 0&0

90. What is the unit of S.F.C. (Specific Fuel Consumption)?

A gm/hp/hr. B  Litres/Kwhr/minutes
C Kg/Newton/hr D  None of these

10



&

91. In WDP2 , how many nos. of cam bushes fitted are in block?

A 10 nos. B 18 nos.
2 15 nos. D 20 nos.

92. Engine crank case vacuum is not building up due to

A Linear chrome plating worn out B Fuel motor not working
C Dust blower not working D  Engine RPM less

93. Cylinder Head hydraulic testing is done at

A 5.0 kg/cm? B 10.0 kg/cm?
C 1.0 Kg/em? D 2.5kg/cm?

94. During overlapping period, inlet and exhaust valve remain in

A Closed position B Open position

C Open and closed position D  None of these
95. Internal cracks in the axle are detected by test.

A DPT B  Ultrasonic

C Zyglo D  Magnetic particle test
96. Height of centre buffer coupler of WDM2 loco is mm.

A 1030-1105 B  1100-1150

C 1010-1150 D 1060-1105

97. In WDM2 loco, split gear is mounted on crankshaft near main bearing

A No.1 B No.5
C No.7 D No.9

98. Air dryer is provided between

A MR Cooling cci! & MR1 B MR1&MR2
C Compressor & MR cooling coil D Inter cooler & After cooler

99. Gear case of ALCO Locomotive is lubricated by

A Lube oil B  Soft grease

C Hard grease D  Cardium compound
100. High viscosity indicates

A Mixing of water in lube oil B Mixing of fuel in lube oil

C Mixing of carbon contents D  None of these

11



101.

o>

102.

o>

103.

104.

o>»

105.

o>

106.

o>

107.

o>r

108.

o>

109.

o>r

110.

o>r

When was Official Languages Act 1963 passed?

16.06.1961 B  25.02.1963
10.05.1963 D 10.05.1967

When is Hindi Day Celebrated every year?

14" September B 17" October
2" November D 14" April

According to Official Languages Rules, Andaman & Nicobar Islands come under
which Region?

Region B B RegionC
Region A D None of these

When was the Official Language Rules passed?

1972 B 1976
1973 D 1978

How many Lok Sabha members are there in the Committee of Parliament on
Official Language?

30 B 25
20 D 15

What is the periodicity of the meetings of Official Language Implementation
Committees?

Once in 3 months B Once in 6 months
Once in 12 months D Once in 4 months

From which course is a category ‘C’ employee required to be trained?

Praveen B Prabodh
Pragya D  All of the above

What is the Foreign language included in the Eighth Schedule?

Sinhala B Bangla
Chinese D  Nepali

Who is the Chairman of the Divl. Official Language Implementation Committee?

ADRM B DRM
Sr.DPO D Rajbhasha Adhikari

In which Article is the provision regarding OL policy available in Part V of the
Constitution?

Article 110 B  Article 120
Article 210 D Article 140

*okekekok
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Corrections of any type on the OMR Sheet (eg. Overwriting, cutting, erasing or alterations of any type in the
answer) will not be accepted. Zero marks will be given for such answers. No replacement OMR Sheet will be

provided.
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Answers to Questions 1 to 110 are given in the multiple choice as A,B,C,D. Choose only one correct answer to

each question from the multiple choice given (A,B,C,D) and darken/shade the appropriate circle fully. Changes |

are not permitted once answered.
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Candidates are strictly advised to answer only 100 questions out of 110 questions. The first attempted 100
questions will be evaluated and answering more than 100 will be ignored even though correctly answered.

Answering of questions in official language is NOT COMPULSORY.
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Expand RLC
RLC g allfeurs 3

A.  Regional Labour Court B.  Regional Labour Commissioner
C.  Regional Labour counsel D.  None of the above

HOER fa=st # #zd H.'qof 710 #4712

In the context of HOER rules. what is “Full Night’

HOER ailglseflesr @pedlsv. 'wpwp @) 76y sTedTmmsy

A.  10.00 PM to 05.00 AM B.  10.00 PM to 06.00 AM
C.  06.00 PM to 06.00 AM C.  09.00 PMto 06.00 AM

HOER F AqAT @& 91a@e fFF 4oft § @mar g2
As per HOER, the Loco Pilot comes under which category
HOER @)1 Ly, GevrGam swLisvil 6T susnauilesr &1 aumeSmmri

A. Intensive B.  Essentially Intermittent

C. Continuous D.  None of the above

T E=IE AT A A7 97 =41 7 Af9% 977 9% ey 9 @
T2 AT AT

Running staff should not normally be away from head quarters for more than
days at a stretch.

@ uiBIG LT TaTTH6T 6ULPHHLOTSH BT %@ GLs) HswevsH Lo
9J8VI6UVH S H60 (hhFI aleVH] () (hHBHHIn LTS

A, Two B.  Four

C. One D.  Three

ERIEIE A E I IEA R E T Eale C A AR B A L C FRE I b BT UF TATE
HTET STOAT

Time required for preparatory and complementary work by a running staff shall be deemed
to be ------ a week

Qi@ esriflwiseflsr o ws s wHMID KTy Ceausnevsendd GhemeuliLi(hbd
@By ------ P UTTLOTS H(HBHLILBILD

A.  One hour B.  Four hours

C.  Two hours D.  Six hours

ATAT FH F09 ATAT F WA H AT AT FT AqAT § ST AT AT - - - - -
In the case of continuous workers “Long on” means period of duty ------
GgrLrFFwmrsr Causpeowi Tl Heflsr eaguwGHe0 “sUTHI 63T 6TE DTV &HL_6HLD

HTeVLD -===--

A. Above 10 hours B. Below 10 hours
C. Below 8 hours D. Above 8 hours
7T T=TF F AT H ogaq A7 AT &3 A sfe 2

In case of running staff ordinary rate of pay includes
@ Wk 2om I WITHEH G FTHTTENT 2l 01l 510 LI
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A.  10% of basic pay B.  30% of basic pay
C.  20% of basic pay D.  25% of basic pay

.31 F 9fada fEga & = ft &
. 3 A IRz A A
Factors affecting the duty hours of Loco Pilots are:
L. Distance between two crew change points

I1. Pre-Departure Detention of the Train
I11. Gradient and banking of the train

CowrGasm enusl_(Haafler Lewtl CHrHensd LTS EEGLD &Tyewtser:
. @) rewt(h) @ wrHm LsTensemds @ @ewL_Guw 2 _srer grrid
IL ruilevso ypOiu@eusn @ s 50551 BniS5I560
I1. ruiledlesr Friiey wHMID eumkis)

A. Tlonly B. T&lll

C. 1&l ; D. LILII

Which is not part of CTR

@31 CTR @61 @S wrs ()svsmev

/2

A.  Engine no. ' B. Inspection details of Loco
C.  Lub. oil and fuel oil consumption D.  Signal and track defects observed by
crew

nos. of CTR forms are collected by guard of the train at the time of signing on.
sTausT S 6. e TLuBD Chriglsv Tuiledsr srausvrmst CTR Ligsumkissi

BraMaaliupEsTmerr.
A 5 B, 2
i 3 D. 4

Al & fou | oofrax #=9 F U g9 6% g

Total Marks for deciding *C category’ to Drivers is:

PLOSTTHERS G 'F susws' iy CFiieusHETaT CwThHs LWH G\ LTS
A.  60-79 B. <60

C. >=80 D. <50

I 3TEavl &1 qeamad T o srse w2ua
fadm. @1 § ofagdqs fHged § §f=9 999 #1997
g, uF e A 9 7 = F ode

Factors to be considered while preparing crew links:

1. HQ rest & Out station rest of drivers
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14

A. lonly B. T&Il
C. LILII D: 1&II
AAH HE T § Af9F Aaea® greadl F1 UHed F7 g0 Treadi &0 AN #iw

1. Running time between two crew change points
1. Duty hours in a fort night

G W QemenTiiyswers swrhs@n Curg &meslsh Qarstar GaussnTigw
& T essTI 61T
I gewavewwss piite) & e eVGL_ag6T gL (Heariaer

1. @resst® @ wrmHm Ysiralsend @ @enCuw @ wni@n Grrb
. m Camisn @)ralsy uenil Grrid

utorqer afgq g g #1 e vgar ERm

What is the %ge of drivers required over the bare minimum no. of drivers to take care of

leave reserve including rest & training

GPDHHULF sTevsTentiGensenw aill %gd] 1genreuisst Chemeu. L BHBHTHsT sy

wHDID LulHF o L el Gy @) mLisou seusstlssis CETerar Geussr(Hid

A.
e,

10% B.  30%
12.5% D.  15%

AT AT AFTERAT = (AT HF F AT AT
AFFFAT) / ( )

Requirement of the Locos =

Bare minimum requirement as per loco link

CourGsrésefsr Ghemeu = (BaurGasr @ soewtliNaTUy G®DHEUL &

Gxpemeu)/( )

A. 098 B. 0.96

C. 097 D. 092

0ER ZRAR ¥ A/ TRNY SRR & U R ygHfd R 3nyia g

Promotion of Passenger driver to Mail/Express driver is based on

vwenflseT QU HBenT 3ehdFev/sTdHaVNTan yenrairTs usal o wiea,

S LILEDL_WTS 6% TeTL g)

A.
C.

Merit test B.  Seniority Only
Merit cum Seniority D.  Viva-voce
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The fig. below represents:

osHuun. £y Lrslusdssns::

A. Inductor B.  Capacitor
C. Resistor D. None of the above
¥F e 9EIEo BP AT & TH FH FLh AT STUAT

Brake feel test shall be done by dropping BP pressure by
BP 955055 @Gwpliugst cpsoid LIBré ss1fey Gamgener ELPSVLD

AEITITNTBICTY
A. 05kg/cm? B. 1kg/cm?
C. 0.6kg/cm? D. 15kg/cm?

frafafem @ § & @ad &7 v=ady W arar 9 g

Among the following locos, the one with the lowest HP rating is:

Weraumio GourGarésafley. Gemmbs CansLil Griiyhiemnad ClsTear_sne:
A.  WDPI B. WDSé6

C. WDG3A D. WDM2

WDG4 @ HTed § YT $F99 AL 2
The traction motor used in WDG4 locomotive is:
WDG4 @)sitedlesilsv LwssTu®SSLUIUE D @) psmeu Gori L mi

A.  Slip Ring Induction Motor B.  Squirrel Cage Induction Motor
C. DC Series Motor D.  Synchronous Motor
9 F ygE ToHAES ¢

Electrolyte used in cell is
B053)60 LWaTUBHSSLILIGILD sTevs L Grmensvl

A. H2SO4 : B. HCL
C. Diluted H> SO4 D. HxO

VRLA Batteries means

VRLA Gui_L_fgsT sT6dTmms0
A. Valve regulated lead acid batteries B.  Voltage regulated lead acid batteries
C. Both A&B D.  None



22

R
(98]

8]
N

The capacity of cell is measured in

HVSH T FImeT Herall L LiLBH ma)
A.  Ampere hour B. Watt hour
C.  Amperes D.  Watts

AEHT T AT A AT AW eI T A o 9% a9 d=iha AT 2

Which part of the IC engine transmit force from the piston to the crank shaft?

IC Quibalrssler sThahil Ligg L esflsd B mbgH Hrriis agrdlil (hd @ allengeniw
C ETEAETY

A.  Flywheel B.  Connecting rod
C. Camshaft D.  Rocker Arm

SIS AT H, Zad Are Rafaat w1 oaqEew w0 fam fre woet f s #e

In diesel locos, is done to check the fuel feed system by simulating the fuel load
conditions.

leFeV GuTGaHTehseats. sTIOUTHST Frenin HlensvHeman o (TeudbLILI(H5HEI0UFH6T CLpsULD

TN GILIT (6T 2o’ L yewiwlisnud Fhuriss QFwiu®Sng.
A.  Orifice test B.  High pressure test
C. Injection test D.  Bleeding test

CCB## fAezw =t WDP4 AT &, fawffas & & = a7 1039 ¥ 4= amaed
FT AT AL T2

[n a WDP4 loco with CCB brake system. which of the following is not a cause for 10
seconds penalty application?

CCB UGrs Feviib Glarenr. WDP4 GaurGasmailsv, Lhsirsupsussteunnilsv 10
il Ty &6 GlLSTTEVIY aNeRTenTLILISGH D@ STTewIwTs §)sVsmsv?

A.  VCD operation B.  AEB action
C.  Power failure in CCB unit D.  BP pressure dropped below 2.8
kg/cm?

HHP GoorGasm sTehdlesflsL o _siremr Fellesvri_isaflesr sTevsmsmtldbens:
The number of cylinders in HHP loco engine:

HHP ST &5 & fAefedt 6t =

A, 08 B. 12

Cc. 14 D. 16

WDG4 259 # faeteet &1 F=1 faar srar 2
In WDG4 engine cylinders are cooled by

WDG4 G)siredlsit Aedlanti_iiasin @ el ialds {5t ner
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A. Water B. Oil and water

C.  Super charged air and water D.  Airconditioning

zafees wdfiar & affTes 1% &1 ST FH A2 % fog B s 2
In electric machines. laminated cores are used to reduce: .

Werarr Gupbdlrisefsy, GeoflGarl. CGarissT GammddsL

LW edTLI(R) S S L1Li (53 63T D 63T
A. Eddy current loss B.  Copper loss
C. Windage loss D.  Hysteresis loss

a2 vEuHS w0 f1 guq qfe fGF 12 e & 91 AHIST w1 AT ST

2l
If the consumption of HSD oil is 12 KL per day, the RCD is considered as .

HSD sressr@Qemtuflsst misiey s prewend@ 12 KL erssrpmsv, RCD 9),55

sHSLUUBBMSI.
A.  Minor Installation B.  Medium Installation
C.  Major Installation D.  Storage Installation

guft-ff F @t &1 9F 2
Category-B crew lobby means: Wfley-L1 Gup sordl sTeTmTev:
A. the number of users are more than 100 B.  the number of users are in the range

51-70
C.  the number of users are in the range D.  the number of users are in the range
21-50 11-30

In CMS, circulars/SOBs are uploaded at:

CMS @)sv, &ppplsewassr/ SOBssT @)ni@ uglGauppliiu@slstper:
A. CRIS B.  Divisional console
C. Lobby console D.  Crew console

veft fFRae FF #r 2fa # F o F Aqsde Reew d ugen d@fea 9w
T

The abbreviation code used in ‘Crew Management System’ for indicating AC refresher
course:

g8.0r300ragi L lienus GNés, ‘sen CuBaTm 6wt FevL_ Gzl
vweTUBSSLIUBILD FHSHS GDIuT(H:

A. ACRE B. REFE
C. REFT D. AIFT
R <30
|r.__.../¢\m...._._]z
9V = «}2&_-.« 0

ufvag § yarfza gwT w22 R,+540

What is the current flowing in the circuit?
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Fmmieul_ L GHle0 Lmujd tesTGermi L (b sTesT6dT?
A. 05A B. 05mA
L. 24 B.  2mA

T = F o wdreT = aar & ga A 3w T fBEEr s
"Waiting duty allowance’ for running staff shall be paid at the rate of:

Bwimbi@ o oorfluiires§hdHa TeT 'STHH HLIL SLeno HevsusiTe aildlsd s s

SULPMBISLILI(HID:
A.  70km for every 24 hrs B. 120 km for the duty
C. 25 km per hour duty from sign on to D. 15 km per hour upto 10 hours
sign off

Hoasres geT vadr #7 JfET # grefav awAw F T oafawan s@=w 2
In grading of LPs by CLIs, the maximum marks for driving technique is:

CLIgér cpsvid LP sefleir riiubh$56060. LU_BB1 BIL LSS DSTT 9HlbLL_F

L H 16 LIesTSH 6T
A. 10 B. 15
C. 25 D. 30

FHeAT FF H, gdedAT 1 a7 fiAr F offav deresw wvar & dfam =
T srom

In accident enquiries, punitive action shall be finalized within _ days from the date of
accident.

allugg alFTrenenrasefsy, allugbg HLho BraNedhbdl  HITL & EmH 6T
HERTL_MET HL_ QI HeDS (LplgdhdLILI(HID.

A, 30 B. 55

C. 90 D. 120

AT AGAT F ATAR. 79 WA TN T TR agd AT T 2
As per accident manual, Rail fracture is classified as:
allug gl ensGui_iger Uiy, Tullsd Ywnley NeTeumwrm auedslLBSSLILGS DS

A. Indicative accident B.  Consequential accident
C.  Unusual incident D.  Equipment failure

AHTET |, HaGdT IF AT FF A0 HT 2

In VCD, what is the cycle time of *Vigilance Cycle’

allfig uilev, ‘allpdQsvsiTeiv swadhglaflssr spmd Ghrid sTsarsor?
A.  60+£2 seconds B.  8+2 seconds
C. 3242 seconds D.  10£2 seconds

The sanctioning authority for the movement of *A” class ODC involving inter divisions is
Wfleysewer o_sirer_sa5w 'A' su@ iy ODC QusssShHamer 9eniws) 9 Hlesmrib

A. GM B. DRM

C. PCOM D. PCEE
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AT TE ZFE gHEAT & FATFTT Fodada Ardr 2

Averted collision comes under classification of accident.
sallidaiul L Gurgs) allussg) QUEHNSLILITL_ 13 6T &1 (BB NS
A. Unusual incidents B. Indicative accidents

C.  Train accidents D.  Equipment failure

> #7 9t F gaAr e oaoft £ geer § arar 22
Derailment of train comes under which category of accidents?
rufléd HL1b YTeRTL I 6ThG euena aflluggisefler £ aumspgi?
A. Class A B. Class B

C. ClassC D. ClassD

FdeAT F A8 FT TgAT HeT FEl Aal

The first hour after the accident is termed as

alluggl BLbG LpHeL wessTICHILD TaT HewpsHLILIHSIDSI

A. Golden Hour B.  Precious hour
C. Diamond hour D.  First hour

FHeAT ¥ T FH FAT 2

I anr & afa &7 T@d F o dqrea qrear qeafaa w7
e, damfr/qegreg o @ @39 ST g w7
FIATI

IqF. W AT HAIAT FLAT AT AET UFA FLAT

AT T 9T FTET AT GTAHEAT F FH A AT 2

Works at accident site:

L. Ensure Line protection to prevent further damage
I1. Ensure relay of message to divisional/HQ control
III.  To save life and provide Medical aid to injured and trapped passengers.

IV.  To preserve clues and collect evidences

Which is the order of priority of works at accident site?

allugg BLbD @)L-HFHe0 Cauenev:

1. Gugyib Cosdhmasd 5BHs CaT(h LUTHISTUML 2 nig G1FiIZH0

1. DAey/semamwwss sl GUuTlighE CFig sliyasms e nigblsFiiwea)w
1. o_uflenrd STLLTHDOYLD, STWWsHL hS WwHDID HHEE W LwenflsEhsd L ([HHdHIe
2 _gail aupnIGaLD.

IV. L whiser UTgiaTésah, HsTTRSmars Gssflssa|

aluss BLbS @)L G560 usnhseflst iperenflepw auflens 615)?
A. LILILIV B. IV.LILII
C. LILIV. D. HLIV.LI

ATET AT FT FqAd AMETATT F ST & [0 3Uered A1 &7 df\d q9&ar 2

Loco outage means the average number of locos available to traffic use in
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BourGaT QFwedYliy sTsaTLgy LyTodldhemall LwSSTU B S SHIeUSN B TEsT FTTFT

BeuTBH TH BT 6TeRdTeNTdBenEHeM WIS & DHH M)
A. 24 hrs B. A month
C. 10days D. 15 days

TH2AT A T 29T 2

o, =1 ¥ v Breaer a7 #9ar - anafas, G 9 Zoang
. Zeeaq fro o fat. fEen s afFarar £ ag=e #wer

T4 . Tz faifra w7 & Bw & #7719 #vq § amrr O of e
oo ot ST Zevmar 4T 2

The objective of accident enquiry is:
. To ascertain the cause of accident in addition to root cause
1. To fix responsibility for accident — Primary, secondary and blameworthy

I1. To identify the rules, instructions and procedures violated
IV.  To determine whether there was general laxity in working. which has also
attributed

allughg allaTrensnTulsst GHTds(D:
L. eLpev STTemTSHHIL 6T Fn (HH6VTH 1S E T &TT6EWTHeNd &6vwT LM
Il elluggisamer Gurmitienu sfloFiisug) - PHeiTewLn, @) TeRTLTLD Hlewsv
LOMID GOMLD FTLL_$55555)
HL o’ L el BlssiT, o mleymishHe0s6T WwHMID Hew L (LpeHMHeD6rT
S[EML_WITETLD 55T 63T
V. Gauensv GlFiisugBlsd GLTGIuTes Harieay @) HHHSHT 6T LN S
FTTer S5, @S0 LD &TTNTLOTELD

A.  1&Ilonly B.  LIL&III

C. T&Ilonly D. LILIHL&IV

The target time of turning out the ART during night is
A. 30 min B. 45 min
C. 15min D. 25 min

T =i F 72 F 3a79 F q=2d § e o2
What is POM in the context of derailment of rolling stock?
Brmedlms oL Td HL1b LTenTL. @Lpedlsd POM srestmmsv sTssTs0r?
A.  Point Of Mount B.  Point Machine
C.  Plot Origin Marking D.  Point Marking

ALT A4 F0TFT F AG9T AT AT 2FTd ok g "rEAr £ s vE o "tata g
AT ST

All cases of collisions falling under Al to A4 categories shall be inquired into by a
committee of

Al ps60 Ad auensHemlsit S 1 6uHd CLOTHVBH6M T W HGI UL EHBEHLD 5p(h

GUpsuTed alFTmdHs @D
A.  JAG Officers B. SS Officers
C. JS Officers D.  SAG Officers
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Pt agar 1 aganf afr #@7 aear F w9 F SE7 S g
‘Sectional speed’ of a section is otherwise known as

om falar 'fe) Geausin' @asmabuweaflsy Hplwiiu®Eng)

A. Booked speed B. MPS

C. Normal speed D.  Restricted speed

TH I el 39 dTed e STAT 2
Auto drain valve blows during
o CLT 6uiga T uTevey afsio CuTg)

A. Loading of compressor B. Unloading of compressor
C. When MR safety valve blow D. MR pressure is above 10.5
kg/ecm2

Ao #rar § FEFd7 Fieedzr F7 3R & smar 2
Reverser contactor used on diesel loco is
1eg6) GaurGasmralled LweaTuBSSUILGID MeuisT sTeTLTEHL T
A. To change the direction of field B. To use the Dynamic braking
C. To pass the power supply to D. None of the above
T/Motors

e @i Suwaruaa 1 Gt fGFadr aw fir o

How many times resetting of GR & GFOLR will be done

GR & GFOLRg st$g6mar (pewm 1 1L_swinds Geusist(HLd

A. 3 B. &

C. work on lower notches D.  Works upto destination

WDP4 D 3= WDP4 B @& A{ed i1 dferaw i 2

Maximum speed of WDP4 D & WDP4 B locomotive is

WDP4 D & WDP4 B @)sirgdlsir ojglsu_s Gausid

A. 130 kmph B. 160 kmph

C. 150 kmph D. 180 kmph
HHP A Hed § 5 917 F1 SI9d 99 Jied a90a1 Srar 2?2
Which type of diesel engine model is fitted in HHP locomotive

HHP @)sirgdlesflsv 6755 euen ST 12 g60 6TEHFSST LoTL 6D

CumrmGSLILL_(HeTers)
A. ALCO-251 B. GT46
C. 710G3B D. GT46MAC

HHP T # 2F99 Tade? il Hed s

Main role of Traction Inverters in HHP LOCO?

HHP LOCO @)sv @)wpsweu @)esr@euii L igsefledr pdhdlu Limi@?

A. To control 3-Phase AC Induction B. To control 3 phase Alternator

Motors
C. Both A& B D. None of the above

JoT ¥F cavd faeew ¥ gafea usu=dt dm@r #§ fRad oFeE zeads
IqAT B
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How many Traction Inverter are availbale in HHP Loco fitted with MEDHA make
traction system
MEDHA Gus 1grraagsit Fsvor_ggie1 Qurmssiiul . HHP Gsur@srallsv

L 6THBHEWSIT 19 TTFNFST Q)65 GleuT L L_TH6T 2_6iTamssT

A 6 B. 5
C. 4 D. 3

THUHYT A H R uwme ¥ oarsstrdrdr Rarea &1 suanr fEEr S @
(HaT T oFve faveq )

Which type of IGBT Device used in HHP loco (In Medha make Traction System)
HHP GeuorGasmailsy sths suswawiret IGBT srgesrio Lwsstu®sbsLul L g)

(Bugm Bd 197TIFagesT FeVOL dHlsV)

A. ABB make.V =6.5 KV, B. Siemens make. V =6.5 KV,
[=600Amps. 2 devices/phase [=600Amps. 6 devices
module

C. Mitsubishi make, V =4.5 KV, D. None of these
[=1200Amps, 4 devices /phase
module

THUEl AT H 2T A2 Afde A% AT Fae I 2
Current rating of Head Light circuit bieaker in HHP loco is

QamaLil BeuTG@asralsy Glanl. swevl Fiduyl LNBrases s sHELTeNS W

MEINIEIC)
A. 10amp B. I>amp
C. 20amp D. 35 amp

UHUAAT AR B TAvAa ez ATde g7 7 Fa9 T 2
Current rating of GEN FIELD circuit breaker in HHP loco is

HHP GeurGsmrailsv GEN FIELD #igsuyl’ (N8résasmsst 5mHGELmemnsw

wH LT (B

A. 40 amp B. 50amp
C. 90amp D.  35amp
oo TETT FT FHEMHZT WDGH 97 3974 ¢

eeeeo.type of speedometer is available onWDG4

..... VTG TfL LT susmas WDG4 @60 Slew_s55Im 3

A. Mechanical B. Electrical
C. Radar Sensor D. Electronic
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WDG4 AT Hed |§ fFaq 9ra7 &iveder Iuaed 22

How many Power Contactors are available in WDG4 Locomotive?

WDG4 @)so1ggl6vflsD) 6THHWSIT LIS SHT6TL_T&HL_TSHET 2_6TETsar?

A.
C:

8
0

B.
D.

9
6

WDG4 AT #T #gqa dfaa SUMP s7HdT F7 22
What is the lube oil SUMP capacity of WDG4 loco?

WDG4 Geur@srallsr spris gy uilst SUMP glmstr stesresr?

A. 1000 litres B. 1100 litres
C. 1457 litres D. 910 litres
WDP 4 3T WDG 4 @& Hiea # #5997 § ofiqeas &1 s & smar 2

In the WDP 4 & WDG 4 locomotive the coolant used in compressor is
WDP 4 & WDG 4 @)sitgdlesllev 9jupdsaluiled Lwesstu®S50uG 0D Geflenlig

A.
S

Air compressor lube oil sump capacity is

Engine coolant
Raw water

B.
D.

d

Compressor coolant
None of the these

67T SLITsT spris L uilsh FIbl1 et 2 _siTerg)

A.
8

10 litres
15 litres

B.
D.

12 litres
23 litres

HHP sTHIea § waw 3% &1 [afEa B smar 2

In HHP locomotive Air brake is controlled by

HHP @)strgdlssflsv ey L1Crs s BHlu®sSs01ubB S S

A.
C.

Electrically
Computer

B.
D.

WDP4 3T WDG4 1T # a% &g g

Brake system in WDP4 &WDG4 loco is

Mechanically
None of these

WDP4 &WDG4 Geur@asmrailsv LIGrd FlewiL b o siTeng)

A.
K

28LAV-1
CCB-KNORR

B.
D.

28LV-1
None of these

WDP4/WDG4 H Sd (2 TFAA & FILU AL said FdAT & AqAT
In WDP4/WDG4 when continuous wheel slip is experienced due to locked axle

WDP4/WDG4 @60, L i1 FFedT STrenTors GSTL_rFFumeT F&55
FmI&EEHe0 sTHLUBHID Cumg)

A.
.

Isolate the defective TM
Fail the loco immediately

B.
D.

Isolate the defective speed sensor
Isolate the defective truck



68 ATT 9T HIZZ TATH H a7 &l ZvAAT ZAFT Tk =dl 2
Oil visibilty in bye pass sight glass indicates that

SHLI LITEV LITTEN& HeWTeTTIq ullsD 2_siTerm sTensTGlevnr it 615116 BlemsL 9sm s

CAEEEN
A.  Primary filter is choked B.  Spin on filter choked
C. Lube oil filter choked D.  Lube oil strainer choked

69 WDP4/WDG4 @1 # £99 97 F Grafa® ffeev F ATk 200 F7 AhA
In WDP4/WDG4 loco choking of fuel oil primary filter is indicated by
WDP4/WDG4 360 st 1@ LT (msiT sTess1Gl6m0T U (Lp HeBTewLL 611 &L 1g uflsdT
BuT@sT cpdFHsh FlewTmsL HMIHELILB S D

A.  Filter condition guage B.  Oil visibility in bye pass sight
glass
C. BothA &B D.  Oil visibility in sight glass near to

engine block

70 =tz AGFB WDP4/WDG4 AT # foFae
If AGFB tripped in WDP4/WDG4 locos
WDP4/WDG4 Geur@asrasailsv AGFB & ® wmpilesrev

A. Battery will discharge B.  Load meter will not respond
C. .BothAandB D.  Engine will shut down

71 UHT HtEE wT HOIAd ATeestl WDG4 ATRT H ST
Rectified Voltage of AC Aux. Generator in WDG4 Loco
s7# @ Hevdlest FMGFww i’ L Wsstesrpsse. WDGE GeurBsralsy

QeoesrGri L i
A. 64VDC B. 53V AC
C. 74VDC | D. None of these

72 WDP4 @THT H ZFF HIET T 2T B
In WDP4 Locos Traction Motor fitted on
WDP4 @)sv Gevr@asmevw 1grmaangsst Quomi L mi QI (HGHHLILIL_(HeTerg)
A. Axlesno.l.2& 5.6 B. All axles
C. Axlesno.l.2& 3.4 D. None of these

73 WDP4 AT o9 H wrfiw oA fFaa 2T 2
In WDP4 Locos Engine starting switch is located
WDP4 @)sv Locos @)sitedlsit Q5m1L_d% Falll & 9sniobisTars)
A. ECP B.  Engine room
C. Control stand D.  None of these

74 WDG4 AT FT fFed AT uF BT TET 2
Starting Tractive effort of WDG4 Loco is
WDG4 GouorGasmalledt 197mdhigel pwHFewuwid G1&mL_mi@gs0
A.  540KN B.  270KN
C.  400KN D.  200KN
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WDP4/WDG4 & a2 GR (q1a7) 10 a9z & «fiqe @wmaw €9 aw foq #war 2

In WDP4/WDG4 if GR (power) trips continuously three times within 10 minutes
WDP4/WDG4 §)sv GR (usuir) 10 BliflL_misemd@er QHmL_ihgl cLpssTml psoD

LW 6357165 6V
A.  Truck isolation is to be done B.  Defective TM is to be isolated
C. Defective speed sensor is to be D.  Fail the Loco

isolated

WDP4/WDG4 59 #f#aT F FX0 WA 72l 2l &l 2
In WDP4/WDG4 engine cranking but not starting due to
WDP4/WDG4 @)siredlssr &lrmeirdsln oparmed stoL_mil 2 sailsens)

A. EPD Tripped B.  Governor not advancing fuel racks

C. No fuel reaching in the cylinders D.  Any one of above

Foe @ § B oy A HgT gorer #1 s9Enr R S w@r 22
What is the type of lubrication system being used in diesel loco
g6 GaurGasmailsy sTarer suswawrear sTLifGsagerT FovL (b

LweTuU®SHSLILB SN
A.  Gravity lubrication B.  Force Feed lubrication
C. Force Feed & splash lubrication D.  Capillary lubrication

WDP4/WDG4 afgdl 1% €T % &N 2ral &
WDP4/WDG4 Hand break applies on wheels
WDP4/WDG4 sna ppley Fésrmisetsy G ummbgi o
A. LS B. RS
C. R4 D. L4

AT T AT FT FAT TATT T=AT 82

What is the effect of auto flasher operation

LB BdlenTagi GQFwsour iy e aflenarey sTeser

A.  Engine comes to idle B.  Auto flasher indication
C. Buzzer D.  All of above

UHUEST ArEEIEd & AW F ff SET Jar 2

HHP Locomotive is also known as

HHP Geur@asrGomi_ig6u sTedmyih (6w pdsliuBEIns

A. EMD Locomotive B.  GM Locomotive
C. G4/P4 Locomotive D.  All of the above.

Fer &1 gufad F9 % fau g oarqfd wTH 2|l @

To operate sander, air supply is received from

FrevTLe»r @WwdHs, STHM Flswer GupLiUBSING)

A.  MR-1 Pressure B.  MR-2 Pressure
C. BP Pressure D.  B.C. Pressure

S-1313 ®IF #T I9FET FFaT 4T 2
S-1313 form used for
S-1313 wigeub LwsTURSSILL L G)
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84

86

87

88

A.  Stocked item B. Non-stocked item
C.  Llocal purchase D.  Short tender

w2 AT ® 3T F AL R AT AT A UgA had 99 FF 4% AU ST,
Sel & 12608 Afgw 7 2

How many wagons hand brakes shall be applied before detaching TE of a train in station
limits where the gradient is steeper than 1/260

112605 @ Guev gmite) Qsm@s5T5 &) Mm@ Bevsow suroilsy @ rufsdsr TE s
Ufugm @, wpet sTézemert Goumssiraser ends LG @der LwsTLH S5 1R ID

A. BV + 12 wagons B. BV + 06 wagons

C.  Only BV D. BV + 18 wagons

AfeFaw. WDM3D @ | #% =y #1 zama 2T

Max. Brake Cylinder pressure is in WDM3D loco

9glsulsn. WDM3D GeurGsrallsy LNBrd Aellswsrii owpdHsLo 24 &HLD
A.  2.5Kg/em2 B. 3.5 Kg/cm2

C. 1.5Kg/km2 D. 3.0 Kg/em2

WDG4 @ § ST PCSATF &3z 21 ATaT 2, Tl T892 3T 9z &7 &
FIH FAT g T

In WDG4 loco when PCS is knocked out, unable to reset by penalty reset, then
WDG4 GeurGasmallsy PCS pré oy GFinuiul_L_msv, Gusrrsviy FPEFL eypsuib

L L ewwés iy weaissnsy, LINE
A.  MAB breaker should be recycled B.  TCC breaker should be recycled
C.  Airdrier breaker D. BothA &B

THUET AT H, THAT-2 a2

In HHP Locos., ECC-2 are located in

HHP Locos @)sv, ECC-2 e opbgisieng)

A.  Driver cabin B.  Under Truck
C.  Near Radiator room D.  None of these

THYET H ST Fse Afte BOXN Y F o0 ST BPC #71 J9ar #4122
What is the validity of BPC issued for closed circuit BOXN rakes issued in HPT?
HPT @60 suprasiiuc L epigw spmi BOXN Cra@asens @ suypmisiiu@bio BPC @)sr

Ol&F6LsYI LI WIT G LD?
A. 7500 kms or 35 days B. 6000 kms or 30 days
C. BothA&B D.  None of the above

AT T AT ATAT I AT AAITF qF qTAT R & i v AT F
oo yrfas w=aa o R

The required brake power of passenger carrying train shall be and fora CC
rake goods train shall be at originating station

vwenflaser sTHmldF Glasvgin Tullsllsit Goswanwmsr LNGrd usui oy sayn, A4
Cré 51863 ruilass 251D (3)(hHs CeuewwT(HLD.

A, 100%-100% B.  85%-100%

.~

(1\b)



89

90

91

92

93
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C.  90%-50% D.  100% - 85%

WDG4 @& mETfza § ECC#T % Heam

Total no.of ECC in WDG4 locomotive

WDG4 @sitedlaflsv ECC @)sir Gliomsg sTantentldbens
AT 3 Bt 2
C. 1 , D. 4

AEFE F4T A F dgd [ FEEE § fFaq fia R sma &2
How many days are granted in entire tenure under Child Care Leave
Gyheng urrwiiy al@uUlsT £ e USANESTOSSIVID THSMET BHTL 56T

DYLIEINTRICE S E ]

A. 730 B. 365

C. 300 D. 600

Tz faue 4 ggEe ARSI 2 i s 1 A

Gate signal is identified by

BsL Fdered ELPSVLD WL WTETLD HTTLILI(BHS M-

A. G Marker B. P marker

C. 1B Marker D. 1D Marker
?ﬁﬂ%ﬁﬁ?ﬁﬁéqﬁﬁﬁﬁﬁ% Hrex i T o Rga gar
1

Signal warning board is located at a distance of meters before a stop signal.
Asered eTEFMNEMS LVMS BIMISSH FLOlSmEHsHE (6T T
CaTemsvallsh ewLohIeTard).

A. 1500 meters B. 1200 meters

C. 1400 meters D.  None of these

£ afyr oo gEgrE e fGar smoem

When a signal is newly erected or shifted, caution order shall be given for a period of
days.

2(m HébeTed UHSTEH 9)sMdHEILL LT Vg rHPULBGLEUTS,
BT _&6H5@E cdafsams 2 55168 05THSSILGID.

A 8 B. 9

L 18 D.  None of these

45 9T FUT H ATAF F A FEE TIT AT HSET AT gl
Non stock indents above Rs 45 lakhs have to be approved by
45 UL_55815 @0 CLEVTET LIkI@ V0TS 2_6THETOTeVH 6T hik e MHHLILL

Gousw(h)id

A. JAG officer B. ADRM

C. PHOD/CHOD of department D.  None of the above

afz cC¥F TXRATE # ¥ ¥ wfow #wg aF fRaw vgar g 9 BPC
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If CC rake is stabled for more than hrs in TXR yard BPC will become invalid

TXR wriigev wenflGHrH5 M@ Guwew CC Gré Blawsvwrs @) mbghrsd BPC
OFLVTHHTH Ol (HLD

A, 24 B. 8§

c 12 D. 16

T e & 999 weAd F UFZ 2 Y AT 2 AT FFT AT 2
Appearance and disappearance of same aspects of a signal is known as
RH FUHmeEhuilsr 9Cs 9smisetlesr GETHMID WHMID WeNMHD sTeoT

SPlwiuGang
A.  Aspect B.  Indication
C. Bobbing D.  Flickering

27

Which of the standard form is required to be used for islsuing the order of deemed
suspension?

el FoVOLISTORSIT Y TL DT 6ULPBIGHSN G, 6THd HIEWEVW TEIT Lilg6udend Ll
LweTu(hgH % Geusst(h)ib?

A, SF-1 B.  SF-3

C. §F-2 D. SF-4

S TE A4, FHATP A AT #7 T w2 oAt FEe wvgdAr smi
When a Rly. Employee placed under suspension but only a minor penalty is imposed. the
treatment of the suspension period is as

s Rly Gurgy. uswllwrert @enL FHahHlem S snsudbsliul LTT. 96T T 6p(F
APlw urTsh w HEw alFssLUBE DG B)WLFds Hrevshglar A&l

LilsTeu (mLomm)
A. Diesnon B.  Non duty
C.  Duty D.  None

~.

UF HATHGT A4 FHATRT UF 907 § GFaq qm@Ar #1747 aggE F =9 o
et =1 82

How many cases are dealing a retired Railway employee as a defense assistant at a time?

pliey Qunm ruilsGeu sarflieny 81 CHrHHsd LTHBTUY 2 SalwTeryTs
STHHEMEIT 61 LP& FHB6T 69 ILIT 6T 63T M 6vT7

A. 3 B. 4

cC. 5 D. 7

YT AT T4 A9 F AT A Aa9Eg dAaw @

How many Annexures are attached with major penalty charge memorandum?
Quflw S UTTSHS SL_LNT &HDIIL|L6IT 6THHM6dT (3)6W6wTLIL|SH 6T
@ewsnrd sl (hsrere’

A2 B.
Cc. 4 D.

N
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SIS Glomifl LWSTUTH GPSS PHEW 1Py e ST sThE HLFFHLD 6T([H)S @D
Which ministry takes important decisions pertaining to official Language?

A) Ministry of Home Affairs B) Ministry of Railways

C) Ministry of Tourism D) None of the above

SIS Qorf]l QB TL_TLTeT BT TEHLSTDS & Lalsd 2 sTear whsarenal 2 myliisrissteT
STENTENT S sTelsuaTey

TIAATIT F AT ARAT F ATE q4T FOFAT q2A4T 219 20 _

How many Lok-Sabha members are there in in the parliamentary committee on Official-Language?
A) 15 B) 20

C) 22 D) 27

satwri pwupHAule (Nrefsr Cxialsh Caiid oL hsaisens@Gayrsliu®n alms OsTens
sTeuaueTey”

AT A 7 AN THET O F9T 9 UERRe AEE & el st 20

What is the amount of Lump sum Award for passing Praveen Examination through private efforts?

A) Rs.1600 B) Rs. 1500

C) Rs. 2000 D) Rs. 2500

g rflusveniotnilesr 17sug Nflalsy o sirar o it 1 Slsirseflssr stamenflbens
qAAE F 9T XVIH #6449 d=w7 22

How many articles are there in the p;m XVII of the constitution?

A) 8 B) 24

C) 9 D) 10

BHET YsPieievs Glomifl beoL pewmliLiBsib SO 1gullesran L ib henL Gumnib STev oyemay
What is the periodicity of the meeting of Town official Language Implementation Committee?

A) Once in two months B) Once in three months

C) Once in four months D) Once in six months

IS GloTif]l FIL SgleTuig BTt BleBHTUmi sThs Tl a0HHs0 @)L 1b6lupdmisTers) ?
TIAATIT AN F OAGAT ATHE AT AEET FET RO F AT T TR0
Which region Andaman and Nicobar is situated according to Official Language Rules?

A) Region A B) Region B
C) Region C D) Region D

STEW6L FrFearsH e 6T L meugl LNiflelley sHCUNg GMIULILLUGID Qomyd & e et
6T600T 60011 86085

ATAATT H HATTT FT AZAT ATHAT F FHIAT ATITT AR 22

At present how many languages are enlisted in the Eighth schedule of the constitution?

A) 18 B) 24

C) 22 D) 27
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aflbgluflev surtiGlumid 5Lq.gni:$@,é;@ g Gorfluflsd Lgled Heiuiu@D ?

2 F I THE # IqAE w4 F A S =i

In which Language we have to reply if the letter received in Hindi?

A) Regional Language B)- English

C) Hindi 4 D) Hindi and English
. 3

GO L gyemwisssded aflbg Gurfullsr uweTur® wHmIb e GBS uff£e0g g
Werumrireney Gaiiuyb sl 1g 1g)?

TR AT T & A we d et g & e @ e w8

Which Committee review the progress made in the propagation of Hindi in the particular Ministry?
A) Central Hindi Committee B) ZOLIC

C) TOLIC D) Hindi Salahkar Samithi

grdwsvenwiisr 17aug Gl Lruril prirepwsTngglsd HapCamplg)......
T FT AW XVIIEAE § FH qEE #O9E gar

On which date part XVII of the constitution was passed in parliament?

A) 14 Nov 1949 B) 14 Sep 1949

C) 26 Jan 1950 D) 15 Aug 1947
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SOUTHERN RAILWAY )
Examination for the Post of JE/IDSL/Mech./TNP ~

28/05/2019 | DURATION: 120 mts
MARKS :100
, Instructions to Candidates.
«Candidates should write their name, designation, office, roll number/staff

number, etc., ONLY in the space provided in the fly leaf and not in any of the
page in the answer books or additional sheets”.

Any names/roll numbers if found in the answer books or additional sheets,
such papers will be disqualified.

In the answers to the objective type questions, rfo correction of any type is
permitted. In case any correction is made, that answer shall not be evaluated
at all for e.g. Corrections made in the objective type questions like (a) cutting
(b) overwriting (c) erasing (d) scoring off a ticket answer in multiple choice and
ticking another answer and (e) modifying the answer in any way will not be
evaluated at all’.

The quéstions on official language are not compulsory and the evaluation will
be made only in respect of questions for 100 marks.

Each question carries one mark. There shall be negative marking for
incorrect answers. One third of the marks allotted for each questions
will be deducted for wrong answers. Cutting, overwriting, erasing or
alternation of any type in the answer, will not be accepted to ensure
authenticity of the answers. Zero marks has to be given for answer

having correction/overwriting.




1. Maximum exhaust gas temperature of WDM ;4 loco is
A) 525 B) 620 C) 425 D) 800

2. Dead man regulator is available in control porﬁon of CCB version 2.0.
A) ER B)BP C)16CR D) KE valve

3. ALCO loco new injector nozzle opening pressure is psi
A)4050 B) 5000 C) 6000 D) 8000

4. During which inward stroke of diesel engine operation both inlet and exhaust

valves are closed ?

A) Suction  B) Compression C) Exhaust D) Power
5. Low viscosity indicates ¢
A) mixing of water in lube oil ‘ B) mixing of fuel in lube oil
C) mixing of carbon content in lube oil D) none of the above

6. The torque value of Gear case bolts of WDM, bogies is
A) 600-700 ft.Ibs. B) 1000-1200 ft.Ibs
C) 1400-1600 ft.Ibs D) 350-500 ft. Ibs.

7. Which type of bogie is used in HHP locomotive.
A) Fabricated bogie t B)Cast steel
C) High tensile cast steel D)None of these .

8. In the fuel oil system which type of injectors provided in the HHP locomotive.
A) Unit injectors - B) Injectors with HP. line
C) Injector with cam D) None of these

9. What is the compression ratio of the GM locomotive.
A)16:1 B)14:1 C)13:1 D)15:1



10.

i

12.

13.

14.

15.

16.

17.

18.

19.

In the HHP two stroke engine the cylinder head of the engine eql_Jip'ped with

A) Inlet & Exhaust valves B) Only Inlet valves
C) Only Exhaust valves D) None of these

ALCO Water pump is driven from .

A) Split gear B)Cam gear : Il i

C) Extension shaft gear D) Main generator gear

How many main bearing are available in crank shaft of HHP locomotives ?
A) 8 B)9 C)10 D)16

On operating D-1 emergency which pressure drops ?
A) MR B) BP C) HS-4 D) Norair supply

How many braking position a A-9 valve have.
A) 05 position B) 04 position C) 03 position D) 01 position

How many braking position a SA-9 valve have.
A) 03 position B) 02 position C) 05 position D) 01 position

Duplex check valve operates when MR pressure reaches __pressure(kg/cm?).

A) 5 kg/cm? B) 6 kg/cm? C) Always open D) 10 kg/cm?

R-6 relay valve is fitted in loco for.
A) Quick MR charging B) Quick working of AFMV valve
C) Quick vacuum building D) By passing AFMV

In case of pure air brake loco with load at the time of tréin parting, which safety
valve is operates and brings the ioco to idle.

A) H-5 relayvalve B) HB-5 relayvalve
C) Airflow measuring valve D) F1 selector valve

How many numbers of positions MU2B valve have
A) One position B) Two C) Three D) Four

i



A)MR-1 B) MR-2 C) BP pressure D) HS-4 valve

20. Wiper gets the air supply from

- 21.  During which stroke inlet valves open

A) Suction B)Compression C)Power D) Exhaust

22. Honey combing is related with
A) Cylinder head B) Piston C) Liner D) Connecting rod
23. In WDMB3A loco,: how many thrust bearings are used

A) 2 Nos B) 1 No C)3Nos D) NONE
24.  How many stiffer cam segments are fitted in WDM-3D loco.

A. 6 Nos B) 7 Nos C) 16Nos D) 10 Nos

25.In WDM-3A loco; which type of lubrication system is used?

A) SplashType | B) Forced feed
C) Self lubricated D) None of these

26.Crank shaft vibration damper is fitted with crank shaft with the help of

A) Key B) Dowe‘.lyv'” C) Nuts & Bolts D) None ofthese

27. Whatis the BHP of WDM3A loco?

A)2300 B) 2400 C) 2600 - D)3100
28. Universal shafg;i§ used to (tjrive,.'lradiator fan becéuse |
' 2 A) ltis rig_id'l : . B) Itis strong N
O)ltis selfi_gléi__gmng D) Itis weak

29. For the same HP and bore size, which engine will be heavier.

A) Petrol engine_ _ B) Diesel engine

C) Jet engine D) None of the above



30.What is compression ratio of WDM2 Locomotive ?

A)12.0:1 B)115:1 C) 1251 D)13.0:1

31.BAP is not building up due to..........

A) TSC rotor jam B) Governor defective
C) Air Intel gasket burst D) Any one of the above
32 HHP loco water temperature is maintained between ___%and °
temperature.
A) 79-85 B) 85-90 C) 90-95 . ' D) 68-70

33. How many piston rings are fitted in the HHP engine piston :

A) 5 B) 4 C)6 D)3
34.Internal cracks in the axle are detected by test
A) DPT B) Ultrasonic C) Zyglo D) Magnetic particle test

35. HHP loco left side cam gear driven by

A) No 2 idle gear B) No 1 idle gear

C) Right side cam gear D) Crank shaft gear

- 36.What is the unit of SFC ?2(Specific Fuel consumption)
A) gm/hp/hr. B) Liters/Kwhr/minutes
C) Kg/Newton/hr D)None

37.Whi_ch of the following is primemover

A) Engine B) Traction Generator
C) Traction Motor D) None of the above

38. In ALCO locomotives the Diameter of new wheels are ___ mm.
A) 1092 B) 1100 - (C)1030 D)1060




39.  The more Oxygenated Air is required for better__.
A) Control air pressure B) Combustion of fuel
C) Braking ‘ D) Cooling

40. In ALCO fuel oil system type of filters are used. ,
. A) Sock type  B) Foam type C)Meshtype - D) Paper type

41. What is the Lubeoil capacity----------—--—(in litres) in WDM3A locomotives?

A) 760 " B)1050 01100 . D)1457

42, If white smoke is emitting from exhaust chimney,what could be the reason?
A) Water mixed with fuel oil B) Governor oil mixed withfuel

C) Lube oil mixed with fuel oil D) None of these

43. The number of Brake cylinders provided on WDM3d locomotive is

A)B . B® - ©)10 ‘D12

44. Reduction in BP pressure causes
A) Brakes release ' B)Brakes slow release

C) Brakés ébﬁli‘cation  D)MR preééure increasing

45.  Number of brake blocks is provided on WDM3A is
A6 B)24 C)32 D)22

46.The compressed aif enters to MR1 tankthrough:

A) MR Safety valve B) MR2
 C)Cooling Coil D) 3/4" cut out
47. Inter cooler safety valve is set at kg/cm? pressure.

A)10 | B)4.2 C) 105 D)5
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48. Wheel arrangement in WDG4D/WDP4D locomotive is.

LT

A) CO-CO B) BO-BO C) BO1- BO1 D) None of these.
49. How many Radiator fans in the Dual cab locomotive?
A1 B)2 C) 3 D)4
90. Fuel oil tank capacity of WDP4D loco is. -

A) 5000 Lts. B) 6000 Lts. C) 4500 Lts. D) None of these.

51.What is the compression ratio of WDP4 D & WDP4 B locomotives?
A) 16:1. B)14:1. C) 13:1. D) 15:1.

¢

52.Which type of diesel engine is fitted in HHP locomotive?

A) Four stroke. B) Three stroke. C) One stroke. D) Two stroke

53.How many cylinders are used in HHP Loco Engine?

A) 16 Nos. B) 08 Nos. C) 12 Nos. D) 14 Nos.

54 What is the low IDLE speed RPM of the HHP locomotive engine
A) 300.RPM. B) 200 RPM. C) 269 RPM. D)904 RPM

» 55.The engine speed of WDP4B locomotive at 8" notch is
A) 960 RPM B) 904 RPM C) 1050 RPM D) 1000 RPM

56.i1i the HHP locomotive the Turbo charger is driven by

A) Exhaust Gas . B) Gear Train

C) Gear Train & Exhaust gas D)None of these

57. In HHP locomotive Air brake is controlied by.
A) Mechanically B)Electrically C) Computer D) None of these
58..Brake system in WDP4 &WDG4 loco is

A) 28LAV-1 B) 28LV-1. C) CCB-KNORR. D)None of these




59. Main parts of KNORR/NYAB CCB 1.5 Brake system are.
A)VCU& CRU. B) PCU & KE Valve. C)BVC D) All of above
60. MR Pressure dropping on run due to.

A) Air dryer defective B) Auto drain valve malfunctioning.

C) Brake cylinder pipe damaged D) All of above.

61.The wheel diameter variation of WDM2 on same axle is permitted upto
A2mm B)3mm  C)4mm D)05mm
62.Nos. of teeth of bull gear of WDM2 bogie is
A2 B) 65 Ces D) 70
63.How much percéntage of load does center pivot of WDM2 bogie carries

'A) 40% B)50%  C) 60%  D)70% '
64. Engine crankcase oil deteriorates in service on
A) Contamina_tio_n by blow-by products of combustion
B) Wear metal particles
) Contamlnat:on by fuel and cooling water-
' D) All the above

65.Brand of Oil uééd in diesel engine crankcase is

A)RR407 .. B) Syngear 460RR
C) RREOGMG D) Servo Prime 100R

66. Blotter spot test conducted in lube oil to check

LAY Dlspersancy charactenstlcs B) _Detergenqy characteristics

C) Fluidity charactenstncs Q)None of thé above

67.Which test is the predictive tool for diesel loco:engine maintenance
A)Magnetic partacle test B) Radiography
C) Dye penetrant test D) Spectrography



68. Presence of Sn, Pb-& Cu in engine lube oil indicates wear of

e A) FIP support Bush . B) Cam lobe
C) Trimetal bearing : D) Cylinder liner

69. Free length of Engine Connecting bolts length found above 11.004" indicates
A)Oversize bolt ' B) Standard size bolt
C) Bolt taken Permanent set D) Bolt for HHP loco

70.Mean Pore Size of fuel oil Primary filter is

A) 0.010" - 0.016” : B) 10-16 Microns

«
C) 10" -16" D) None of the above
71.Surging of turbocharger occurs when
A) Turbine nozzle ring carbonized B) Air intake filter clogged
C) Valve timing disturbed . D) Any of the above
72. RDSO recommended sequence of setting of Over speed tripping in ALCois

A) MCBG —Mechanical OST- MBCS
B) Mechanical OST -MCBG — MBCS
C) Mechanical OST- MBCS-MCBG
D) MBCS-MCBG-Mechanical OST

73. Which locomotive variant is having high starting Tractive effort
A) WAGY9 B)WDG4 C)WDS6 D) WDG3A
74. POH periodicity of ALCO diesel locomotives

A. 10 iakh KM or 8 years, whichever is earlier
B. 8 Lakh KM or 10 years, whichever is earlier
C. 10 lakh KM or 8 years, whichever is later
D. 8 lakh KM or 8 years, whichever is later
75.In ALCO diesel Iocomdtives Auto Frettaged tubes are used for

A) Fuel jumper pipe B) Fuel High pressure pipe
C) Fuel cross over pipe D)Fuel header pipe




76. Type of water pump shaft used in ALCO diesel locomotives

14,

A) Sleeve type B )Sleeveless solid type
C) Hallow type D) None of the above

Diesel loco outage is the term refers to

- A) Diesel loco availability for Train service

78. &

B) Diesel loco availability for Paséenger service
C) Diesel loco availability for Frelght service
D) All the above

Ineffective percentage permitted by Railway Board for HHP loco is
A) 5% - B10% C) 125% D)8%

79. RDSO recommended material for Gearcase wiper ring sealing is

A) PTFE B) Felt C) TPU D)Any of the above

80 Name the material the Exhaust valves are made of

81.

82.

83.

A) Weltite - B) lnconel 7 C) Stellite  D)Nonevof the above

Which of the following are deemed as a Must change items during diesel loco

heavy schedule maintenance

A) Flexible hoses, Gaskets, Rubber seals,

B) Wear liners, Small bearings

C) Overhaulmg kits of Arr brake valves, Alr dryers, Compressors
D) All the above

rWhich of the §tandards are part of Integrated Manageme_nt System (IMS)

A) 180:9001. .- -+ B) 180:14001
C) OHSAS:18001 5+ D) All the above

150:50001 i&'given to an organisation for

‘ A) Environment Management System

B) Energy N‘anagement System
C) Work Management System
D) Integrated Management System




1/ /// /

84. The gear ratio of modified gear train consisting Water pump drive gear,
Extension shaft gear & Lube oil pump drive gear of ALCo locomotive

A) 19:92 B)67:79:46 ~  C)638342 D) 1877

85. During load testing of ALCo diesel locomotive the voltage and current readings
: observed are 600V & 3200A respectively. Calculate the output.

A) 1920 KW B) 3100KW C) 2600HP D)1920W

86. To operate sander valve the air supply is received from
A) MR-1 pressure B) MR-2: pressure
C) BP pressure D)Brake cylinder pressure

87. Anti collision device (ACD) was developed by
A) KRCL B) SR C) WR D)SCR

88. Diesel organization at Zonal Level is headed by
A) CMPE B)CRSE C) CWE D)CWM

89.In turbo run down test minimum time allowed for free running is
A) 90 seconds B) 120 seconds
C)150 seconds D)160 seconds

90. The reason for nozzle dribbling is
A) Improper pressure setting
B)
Y C) Valve sticking inside the valve body
D) All of the above

Dirt struck between valve and valve seat

91. The supercharged engines have
A) Less power to weight ratio
B)A Poor scavenging in cylinders
C) Better fuel efficiency due to complete combustion of fuel
D) None of the above

92. MR safety valve in IRAB system operates when the MR pressure goes beyond
A) 7.5 kglcm? B) 10.5 kg/cm?
C) 5.5 kg/lcm? D)5 kg/cm?
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93. Which of the following is not item of fuel efficient loco

A) Steel cap piston B) Modified FIp

C) ALCO TSC D) Large After Cooler

94.Firing order of WDM 3A is
A) 14768523 R/L
C) 14768532 R/L

B)14758623 R/L '
D)18254637R/L .

95. Electro Pneumatic Governoris IS Iocated in

A) Expressorroom B) Radiator room .

C) Nose compartment ‘D) Rear compartment

- 96.When LLOB trips, the engine wrll

- A)Raise ; Lt B) Shut down -
C) Comes to Idle 4 D) Huntrng
97.1n Wood word governor whrch solenord is. operated on operation of Low [ube
oil plunger
. A) Csolenord B) CD solenoids.
' C) AD solenoids ' D) None

A) 2.0 kg/em? B) 1.3 kg/cm2 C)25 kg/cm D) 3.0 kg/cm?

99 Hot Engine Alarm (HEA) will come at degrees centi

grade in WDG3A locos
A) 60 B) 70 C)90

D) 80

100. AEBstandsfor..... . ..

A) Auto Emergency Brake

: o |
B) Air Emergency Brake ,. |
C) Addrtronal Emergency Brake D) Auto Electronlc Brake |

A) X . B) XV C) xvm,f\,ir,_; D) IX

102.  When Hindi.day is celebrated? LB
A) 14t September B) 16" September .
C) 18" August D) 20" December i
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103.  When the official language act was 1963 passed ?

A) 20.06.1963 B) 12.08.1963
C) 10.05.1963 D) 28.04.1963
104. How many languages are enlisted in the eighth schedule of Indian
Constitution?
A) 25 B)21 C) 20 D) 22

105. Which are the three regions as per the pro\/ision’s made in the official
language rules ?

A) Regions AB,C B) Regions A,B,D
C) Regions E,F,.G D) None of the above
106. In which region is Tamilnadu is located? A
A) Regions-A B) Regions -B
C) Region-C D) None of the above
107. What is the order of the languages used ih the name /notice boards ?
A) Hindi, Regional language, English.
B) Regional language, Hindi. English.
C) English , Hindi, Regional language.
D) Hindi, English , Regional language.

, 10_8. What are the hindi examinations conducted by the Department of official

language,Ministry of Home affairs ?
A) Prabodh. B) Praveen.
C) Pragya. - D) All of the above
109. Which state is coming under Region-C ?.
A)  Gujarat. B) Orissa.
C) Punjab. D) Bihar.

110. What is the cash award for being given for passing PRABODH hindi
examination with 70 % or more marks ?

A) Rs.1400. B) Rs.1600.
C) Rs.2000. D) Rs.2400
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Question Paper for the Post of Junior Engineer/DSL/Mech/TNP in Level 6

against 25% Promotional Quota

1. WDG4D locomotive is fitted with.
A. 16 cylinder 710G3B Diesel engine. B. 08 cylinder 710G3B Diesel engine.
C. 12 cylinder 710G3B Diesel engine. D. 14 cylinder 710G3B Diesel engine.
2. Length of WDG4/WDP4B loco over bufferis..............
A.19964 mm.  B.23002mm. C.20000mm. D.21000mm.
3. Maximum Tractive effort of WDG4 loco is.................
A. 41 Tones. B.53Tones. C.50Tones. D.123 Tones.
4. Maximum Tractive effort of WDP4B/WDP4D loco is..............
A. 41 Tones. B.53 Tones. C.50Tones. D.123Tones.
5. Which type of diesel engine model is fitted in HHP locomotive?
A. ALCO-251. B. GT46. C.710 G3B. D.GT46MAC.
6. How many cylinders are used in HHP Loco Engine?
A. 16 Nos. B.08Nos.  C.12Nos.  D.14 Nos

7. In HHP Locos, Battery charger & Aux Gen CB are located in?

A. ECC-1. B. ECC-2. C. ECC-3. D. ECC-4.

8. In WDG4, when driver fails to acknowledge the alerter it gives audio warning for.......... sec.
A. 10. B.17. C. 25. D. 8.

9. For quick charging of BP in WDG4 .............. is used.
A. Foot pedal. B. A9 release. C.SP1/SP2. D .None of these.

10. In WDGA4, hot oil detector is set at............. degrees centigrade.

A.124. B. 100. C.150. D. 200.
11. What is the full speed RPM of WDP4/WDG4 locomotive engine.

A.1000 RPM.  B.S904 RPM. C.900 RPM. D.950 RPM.



12.

ile)

14.

15.

16.

17.

18.

19.

20.

21.

22,

What is the IDLE speed RPM of the HHP locomotive engine?
A. 300 RPM. B.200 RPM. C.269 RPM. D. 904 RPM.

In the fuel oil system, which type of injectors provided in HHP locomotive.
A. Unit injectors. B. Injectors with HP line.
C. Injector with cam. D. None of these.

In the two stroke engine, the cylinder head of the engine equipped with.
A. Inlet & Exhaust valves. B. Only Inlet valves.
C. Only Exhaust valves. D. None of these.

In the WDP4 & WDG4 locomotive engine, how many lube oil pumps used.
A. One. B. Two. C. Three. D. Four

Air compressor lube oil sump capacity of HHP loco is............

A. 9.98 Liters. B. 12 Liters.  C. 15 Liters.  D. 23 Liters.

How many brake cylinders are used per bogie of HHP loco?

A. 06 Nos. B. 04 Nos. C. 02 Nos. D. 05 Nos.

Brake system in WDP4 & WDG4 loco is.

A. 28LAV-1. B. 28LV-1. C. CCB-KNORR.  D. None of these.

In HHP locomotive the first schedule carried out after..........

A. One month. B. Three month. C. Four month. D. 15 Days.

In WDP4/WDG4, when continuous wheel slip is experienced due to locked axle.

A. Isolate the defective TM. B. Isolate the defective speed sensor.
C. Fail the loco immediately. D. Isolate the defective truck.

In WDP4/WDGA4, loco if water pressure is less.

A. LLOB trips. B. Low water pressure button will trip.

C. Crank case pressure button will trip. D. Both A and B.

In WDP4/WDG4 loco, while conducting air brake self-test on working control stand.

A. A9 handle should be kept in run position. B. SA9 handle should be kept in release position.

C. LT switch in trial position. D. Both A and B.

<y
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23.

24.

25.

26.

27,

28.

29.

30.

31.

In WDP4/WDG4 loco, when PCS is knocked out.
A. MAB breaker should be recycled. B. TCC breaker should be recycled.
C. Air drier breaker should be recycled. D. Both A and B.

In WDP4/WDG4 loco, if LLOB is in tripped position during cranking engine will.

A. Crank.B. Not Fire.  C. Not hold. D. Not crank.

In WDP4/WDG4 loco during false locked axle indication.
A. Isolate the defective truck. B. Isolate the defective speed sensor.
C. Isolate the defective TM. D. Fail the loco.
In WDP4/WDG4 dead loco, for quick release of loco brakes should be opened one side.
A. MR equalizing cock. B. BC equalizing cock.
C. BP equalizing pipe. D.BothA&B
In WDP4/WDG4 Loco, when lube oil temperature exceeds 124 degree centigrade.
A. Hot oil detector operates. B. LLOB operates.
C. OSTA trips. D. Both A and B.
In WDP4/WDG4 loco, choking of fuel oil primary filter is indicated by.
A. Filter condition gauge. B. Qil visibility in bye pass sight glass.
C. Both A & B. D. Oil visibility in sight glass near to engine block.

Firing order of HHP Loco.
A.1,8,9,16,3,6,11,14,4,5,12,13,2,7,10,15. B.1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16.
C.1,3,5,7,9,11,13,15,16,2,4,6,8,10,12,14 . D. None of these.

Blended brake, Low water level switch, Temperature gauge & color code are provided in.
A. WDP4. B. WDG4. C. Both A&B. D. None of these.

Max. Dynamic Tractive effort (Speed 40 KMPH to 0) of WDG4 Loco is.

A. 540KN. B. 270KN. C. 400KN. D. 200KN.



32.

33.

34.

35,

36.

37.

38.

39.

40.

41.

42.

In HHP locos, When Reverser is thrown in forward direction, Sanders of.

A. No (3) & (6) only work. B. All sanders work.

C. sanders works irrespective of Reverser. D. No (1) & (4) wheels only work.

B.P continuity not getting to train from a working WDG4 Loco due to.
A. Additional BP COC closed in train end. B. BP angle cock defective.
C. In train end no BP pressure in loco. D. All of the above.
WDP4/WDG4 Hand break applies on wheels.
A. R4, R5. B. R4, L4. C. R4, R6. D. L4, LS.
Lube oil pumps provided In HHP.
A. Scavenging pump. B. Piston cooling pump & main lube oil pump.
C. Turbo lube pump. D. All of above.
Total No. of After coolers inWDP4/WDGA4.
AA4. B.3. C.2. D.5
In WDP4/WDG4 slipped pinion will be indicates clearly by.
A. Loco not moving. B. Train not hauling loads.
C. High motor rpm in computer feedback. D. None of these.
Nos of Main bearings available in WDP4 Locomotives.
A.12 B. 14 C.10 D. None of these
Maximum permissible limit of fuel dilution in HHP Lube Oil is.
A. 2 percent B. 3 percent. C.5 percent. D. 10 percent.
In HHP Locomotive which type torsional damper is fitted —
A. Spring pack type B. Gear type C. Viscoustype D.Pendulum type.
Clutch Test is related to —
A. Lube oil cooler, B. Clutch gear assembly,
C. Turbo supercharger, D. Compressor
In HHP Locomotive MR Safety Valve is fitted at outlet pipe of —

A. MR1 B. MR2 C. MR3 D. MR4

</
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43. Gear ratio (Pinion Gear: Bull Gear) of WDG4D Locomotive is —
A.17:77 B. 18:65 C.17:90 D. None of these.
44.1n WDP4/4D Locomotive independent loco brake application time is —
A.7 -9 seconds B. 8 — 12 seconds C.16-30seconds D.15-20 seconds.
45. Bevel gear is found in which component of HHP Locomotive?
A. Governor Drive B. Sun and planet gear C. Scavenging pump D. None of these.
46. In HHP Locomotive, which of the following valve is not used to convert MR Pressure to 6kg/cm2 FP
Pressure?
A. FT-1 Feed Valve B. F-2 Feed Valve C. D24B Feed Valve D. All of these.
47. Cooling time is related to —
A. Lube oil cooler B. Radiator  C. Turbo Supercharger D. Compressor.
48. New wheel diameter of WDG4D Locomotive is —
A.1092mm B.1095mm C.1097mm  D. None of these
49. HHP Locomotive is fitted with —
A.DURA Cam B. FE Cam C. Stiffer Unit Cam  D. All of these.
50. In ALCO locos, when emergency brake application is done through A- 9 in flasher light modified loco
the condition of loco will be
A. Loco comes to idle and nothing else happens B. Loco comes to idle, flasher light is on
C. Loco comes to idle, flasher light is on & buzzer blows  D. Loco does not come to idle, flasher light
is on & buzzer blows
51. PATB buzzer blows when
A. AFl needle is above 60 B. AFI needle is below 60
C. AFl needle is above 80 D. AFl needle is above 70
52. Function of Air vacuum proportionate valve is in Diesel locos for
A. Acceleration B. Loco comes to idle

C. For starting of loco D. For synchronization of brake



53.

54.

o5

56.

57.

58.

59.

60.

61.

Overcharging (In air brake system) feature is applied by which air brake valve
A. C3 W distributor valve B. VA-1B control valve
C. C2-W relay valve D. VA-1 release valve
In ALCO locos, Above C2- relay diaphragm air pressure comes from
A. A-9 valve B. SA-9 valve
C. MR pressure D. Synchronization on pressure
When H5 or HB-5 valve operates which air supply goes to PCS?
A. MR Pressure B. HS-4 pressure
C. FP pressure D. BP pressure
R-6 relay valve is fitted in loco for
A. Quick MR charging B. Quick working of AFMV valve
C. Quick vacuum building D. By passing AFMV
The standard Color of humidity indicator in ALCO locos air dryer is

A. Orange B. Purple C. Blue D. White

In duel brake ALCO loco, if combined strainer cock is kept in close position, action will be noticed

A. Vacuum will not be shown in gauge B. MR Pressure will drop

C. Synchronization in loco will be cut off D. BP will drop
Feed valve is charged from

A. MR-1tank B. MR-2tank C.”J"filter D. BP pipe

When driver is working from right control stand and A-9 is applied from left control stand in

Emergency position, what will happen?

A. Loco will come to idle B. Loco will not come to idle

C. Loco will shut down D. Only BP will drop and nothing else will happen

During emergency braking the maximum air pressure in brake cylinder is

A. 4 Kg/cm2 B.5Kg/cm2 C.2Kg/cm2 D.3Kg/cm2

/
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62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73,

In, ALCO MR pressure outlet pipe of air flow measuring valve goes to..
A. C-2 relay valve B. Add. C-2 relay valve
C. A-9 brake valve D. SA-9 brake valve
In full service position of A-9 auto brake valve pressure reduction is between (PSI)......
A.18to 21 psi B.23to 26 psi C. 30 to 33 psi D. 35 to 38 psi
While keeping lead/trial switch in trail ER pressure is
A. ER Pressure is less than 1 kg/cm?2 B. ER Pressure is zero
C. ER Pressure is 3.5 kg/cm?2 D. ER Pressure is 5 kg/cm
BP pressure remains on which port of VA-1B control valve
A. Port No.1 B. Port No.2 C. Port No.3 D. Port No.6
In lead position of MU2B valve which ports dose not connect with each other
A.3&13 B. 2&20 C.53&63 D. 13&30
In WDG3A Locos, how many thrust bearing are used?
A. 1 Nos. B. 2 Nos. C. None D. 3 Nos
How many cam segments are fitted in WDM3A loco?
A. 6 Nos B. 7 Nos C. 8 Nos D. 10 Nos
In ALCO locos, during setting of cam gear timing which piston is kept at TDC
A.R-1 B.L-1 C.R-8 D. L-8
Main crankshaft vibration damper is fitted near which main bearings in WDM3A locos

A. No-5 B. No-7 C. No-9 D. No-1

In ALCO locos, Crankshaft vibration damper is fitted with crankshaft with the help of............

A. Key B. Dowel C. Nuts & Bolts D. None of these
How many cam lobs are in one cam segment

A.3 B.4 C.6 D.9
In WDM3D Loco, one exhaust manifold connects with how many cylinder Heads

A. One B. Four C.Two D. Three

2



74. In ALCO locos, Water pump is driven from.........ccccceveciennens
A. Split gear B.Cam gear C. Extension shaft gear D. Main generator gear
75. What is the BHP of WDG3A loco?
A. 4000 B. 3600 C. 3000 D. 2800
76. Honey combing is related with .................
A. Cylinder Head B. Piston C. Liner D. Connecting rod \'
77.In ALCO TSC, Rotor side, what is the material of oil seal?
A. Aluminum B. Rubber Seal C. Brass Seal D. Carbon Seal
78. Universal shaft is used to drive radiator fan in ALCO Locos because
A. It is rigid B. It is strong C. It is self-align D. It is weak
79. TSC surging on higher notches is due to ..............
A. Excess fuel rack B. Choked air mesh  C. Less area of nozzle ring  D. All the above
80. Smoke coming from “SMOKE” hole of cylinder Head indicates................
A. Injector seal is not proper B. Over torqueing C. Injector crack D. Injector not fitted
81. In yearly loco, pre priming break in filters are used.........
A. To arrest the foreign material B. To increase the pressure
C. To maintain the pressure D. To avoid water contamination
82. Exhaust gas temperature at ALCO TSC inlet is ............
A. 300°C B. 590°C C. 400°C D. 800°C
83. Engine crank case vacuum is not building up due to
A. Linear chrome plating worn out B. Fuel motor not working
C. Dust blower not working D. Engine RPM less
84. Engine giving blueish smoke indicates................
A. Water mix in fuel oil B. Injector hole chocked partially
C. Cylinder head valve guide clearance more  D. FIP delivery less
85. What is compression ratio of WDG3A?

A.12.0:1 B.11.5:1 C.12.5:1 D.-13.0:1



86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

Which of the following is not the safety item of locomotive
A. OST B. LWS C. Governor D.AC

Which of the following is not item of fuel efficient loco

A. Steel cap piston B. Modified FIP C. ALCOTSC D. Large After Cooler
What is the cause of increase silicon in lube 0il?

A. Linear wear B. X-head wear C. Dust D. Water leakage
In scavenging period burnt gases are pushed out by
A. Fresh air B. By burnt gases C. By TSC D. Nothing of these
Low phasing means
A. After burning of fuel B. Correct burning of fuel
C. Without burning of fuel D. Nothing of these
Which item increases the sodium (Na) contains in lube oil

A. Mixing of fuel oil in lube oil  B. Mixing of Water in lube oil

C. Mixing of Lube oil in fuel 0oil  D. None of these
Centre pivot of bogie of WDM3A is located between

A. Leading axles and middle axles B. Trailing axles and middle axles

C. On the middle axle D. On the trailing axle
Which type of suspension in WDM3A loco bogie has

A. Single stage  B. Double stage C. Multi stage D. None of the above
In ALCO loco, Traction motor load of is transferred on bogie frame through

A. Main journal B. Suspension nose C. Axle box D. Helical coil spring
Brake piston travel adjustment in WDM3A is recommended between

A.20mm to 30mm B.10mmtol5S5mm  C. 67 to 100 mm D. 50mm to200 mm
Nos. of teeth of bull gear of WDM3A bogie is

A. 62 B. 65 C.68 D.70
Bogie of WDG3A loco is designated as

A. HTSC B. Fabricate C. Flexi-coil Mk-7 D. Flexi-coil Mk-10



98. To transfer traction & breaking forces between bogie frame bolster and WDM3D loco bogie is

provided with

A. Guide link B. Axle boxes C.Damper - D. Traction rod

99. Expanded form of TBU is

100.

101.

102.

103.

104.

105.

106.

107.

108.

A. Truck brake unit B. Tread brake unit

C. Terminal brake unit D. Thread brake unit

Traction and braking forces are transmitted from wheel-set to bogie frame through ____
A. Hydraulic dampers. B. Rubber pads.

C. Happy pads D. Horn guide.

Which part of the Constitution contains provisions regarding Official Language?
A. Part XVII B. Part XV A. Part XVI A. Part XVIII

On which date Part XVII of the Constitution was passed by Constituent Assembly?
A.15.06.1950  B. 15.06.1949 C.14.09.1950 D. 14.09.1949

How many chapters are there in Part XVII of the Constitution?

A.3 Chapters B. 5 Chapters C. 4 Chapters D. 6 Chapters

How many articles are there in the Part XVII of the Constitution?

A. 10 Articles  B. 9 Articles C. 8 Articles D. 7 Articles

What are all the nine Articles covered under Part XVII of the Constitution?

A. Article 343 to 351 B. Article 353 to 361 C. Article 333 to 341 D. Article 323 to 331

When was the official Language Act, 1963 was amended?

A.1964 B.1969 C. 1967 D. 1965
How many States and Union Territories are there in Region ‘A’?

A. 9 States & 2 Union Territories. B. 7 States & 2 Union Territories.
C. 9 States & 3 Union Territories. D. 7 States & 3 Union Territories.
Which Ministry takes important decisions pertaining to Official Language?
A. Ministry of Finance B. Ministry of Home Affairs

C. Ministry of Culture D. Ministry of Law & Justice

10



109. According to Official Languages Rules, Tamilnadu falls under which region?
A. Region ‘A’ B. Region ‘C’ C. Region ‘B’ D. None
110. According to Official Languages Rules, Andaman & Nicobar Islands fall under which region?

A. Region ‘A’ B. Region ‘C’ C. Region ‘B’ D. None

' 3 %k %k %k %k %k k
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QUESTION PAPER FOR THE SELECTION FOR THE POST OF JE/DSL/MECH/ IN LEVEL 6 OF
PAY MATRIX VII PC AGAINST 25% LDCE QUOTA,
MECHANICAL DEPARTMENT, CHENNAI DIVISION

DATE - 12.07.2023 TIME 14.30 hrs.
DURATION : 2 HRS MAXIMUM MARKS - 100

FILL IN THE BLANKS

1. The Gross Calorific Value of Diesel (H.S. D) oil is

PY A | 6000 Kcallkg |B [10800Kcallkg ]
'C | 4000Kcallkg - D |5000Kcallkg |
2. Unit of speed is
‘A [Misec. 3 - B | KMPH -
C [Both AL1Z vz D | M/sec? - , i
3. What is Least Count of Micrometer?
A imm B B | 0.02mm B B ]
C 0.01mm D 0.1mm
4. DSL engine is based on cycle.
A [Ottocycle B | Dual cycle
C Carnot cycle D | Joule cycle
5. ALCO engine is based on
A Two stroke B Four stroke
C Three stroke D | No stroke
6. Unit of Youngs module is
A [Nmm?z - B [Nom
C N - D | Kg ) )
7. In the Lathe only manual feed is given to
A |Crossside ~|[B [Compoundrest
¢ [Tailstock . |D |ChUek |
’ 8. Jigis used for device.
\ | Work holding B [Toolguide B
Cc [ BothAandB - D None - |
9. Convert 50°C to K.
1323K . |BJsOK
7(;7 112K - - D [273K - ]
10. Melting temperature of Iron is :
A 1s3Cc B [2400°C B i
C [2000°C o . |D |8o0C _




11.In the H.S.S. toll 18-4-1 what is 4?

A % of Chromium B | % of Tungsten
C % of Vanadium D | % oflron
12. What is the tool inserts used in wheel lathe?
A H.S.S. tool B | High carbon tool
C Carbide inserts D | Brazed tool
13. Gear wheel is manufactured by process.
A Boring B | Hobbing
C Sloting D | Lathe
14. Thermal efficiency of DSL engine is
A 10% App B | 30-35% App_
C 55% App D | 60% App

15. Quick return mechanism is used in which of the following machines?

A Planning machine B Milling machine
C Drilling machine D | Boring machine
16. Wheel gauge of DSL loco wheel is
A 15964+0.5mm B 1602mm to 1599mm
C 1603mm D 1560mm
17. Full wheel diameter of DSL loco wheel is
A 1094mm B 1000mm
C 1100mm D | 915mm
18. Gear teeth used in WDSg loco wheel has teeth.
A 65 teeth B | 61 teeth
C 74 teeth D | 90 teeth
19. If speed of crank shaft is 1000rpm, the speed of cam shaft is
A 2000 rpm B 1500 rpm
C 1000 rpm D | 500 rpm
20. The type of bogie used in WDM: loco is
A Bo-Bo type B | Co-Co type
C Steel type D | Cast steel bogie
21. EMD loco is based on stroke engine.
A Four stroke B | Two stroke
C Three stroke D | Six stroke

22. Number of Cam bushes in one engine block (V type WDMz) loco is

A 18 nos.

B

16 nos.

& 20 nos.

D

24 nos.

W/

26



23. MR safety valve is set at a pressure of

;7\ 1 10.0 kg/cm? B | 6kg/lcm?
C | 10.5 kg/cm? D | 5kg/cm?

24 _Unit of air flow in (AF1) is

A | Kg/cm? ~ | B | Poundfinch ]

' C | Number of wagon | | D [ Km/r - |
25 Size of main bearing journal in ALCO loco is

A oo 0000000 B8y 0000000000

c fwoo —— Ipfwsy
26. During which stroke, both valves are closed?

A | Suction ~|B |Exhaust - J

. C | Power | D | None of the above - ]
27. How many teeth are there in split gear?

‘A |36 ~|B |30

[C |28 ~ |Ip [40
28. Water pump is driven by

A | Main generator B | Extension shaft

 C | Cam gear D | Split gear
29. In WDP3A loco, main bearing elongation is ,

A [oo010 B |0.020" B

| C 10.030” - D | 0.040"
30. Honey combing is related with

A | Cylinderhead ) B | Piston -

| C | Cylinder linear | D | Connecting rod ]
31. The standard colour of humidity indicator in air drier is

‘A |Pupe B |orange |

| C | Blue B D | White ]

32. Feed valve is charged through

A | Feed pipe | B | Brake pipe
C | Brake cylinder D | Brake piston |

33. What is the condemning size of cylinder linear?

A [22868mm B [22070mm

'C | 230.72mm 231.74mm
34 What is the BHP of WDP3a loco?

A asowp IEIE

¢ [2e00HP

D

[
I
S -

¥\



35. In WDMaa loco, thrust bearing is fitted in

37.

38.

39.

40.

41.

42.

43.

44

45.

46.

A No.1 upper

B

No.4 upper

& | No.5 lower

D

No.9 upper

. What is unit of S.F.C? (Specific fuel consumption)

A | Gm/BHP-Hr B | Litre/Kwhr/minute
. C | Kg/Newton/hr D | Kg/hr
What is compression ratio of WDMa3a?
A [12.0:1 B |[11.5:1 B ]
> 12.5:1 D |[13.0:1
Which of the following is not of fuel efficient loco?
A [Steelcappiston ~~ [B [Modified FIP |
C ALCO TSC D | Laser after cooler B _J
Back lash of Cam gear is
A 0.006"to0 0.012” B | 0.030"to 0.040" B |
C 0.034’to 0.045 D | 0.020%o 0.039” ]

Height of side buffer (BG locos) should be maintained between

A 1105 to 1030mm

B

1150mm to 1000mm

C 1150mm to 900mm

D

1105mm to 800mm

The wheel dia variation of WDM3a loco on same ax

le is permitted upto

A 2mm B | 3mm

& 4mm D |0.5mm
Brake system of WDMaa is

A 28LAVI B |28LV

C IRAB D | None
During modification of flashes, light time delay is set at

A 30 sec. B 120 sec.

C 60 sec. D | None
Number of rings in steel cap piston is

A 07 B |06

C 05 D | None
TM pinion bull gear ratio in WDP4 loco is

A 17.77 B |[17:90

C 35:90 D | 18:65
Air compressor of HHP loco is

A Single stage B | Double stage

C Four stage D | Three stage

W/
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47.

48.

49.

50.

91.

Da.

53.

54.

B9,

56.

57,

58.

is the singular costliest item of HHB Diesel crank case.

A Crank shaft B | Qil pan

C Crank case D | Power assembly
Low viscosity of lub oil indicates

A Mixing of water in lub oil B | Mixing of fuel oil in lub oil ]

C Mixing of carbon content in lub oil D | None of the above j
What is the compression ratio of HHP loco?

A 1681 . B 114

C 13:1 - D |[15:1 B ] |
There are main bearing in HHP locomotive.

A 8 - - - B |9 - B - )
C o - D [16 ]
Internal crack in axle is detected by test.

A Ultrasonic B | DPT

C Zyglo D | Magnetic particle test
Wheel diameter is measured at

A Loaded condition B | Unloaded condition

C In truck D | None of the above
Maximum HP of WDP4p is

A | 4500 HP B [2600 HP !

C | 2400 HP D |3300HP |
Firing order of WDMa is

A [14768523 R/IL B [ 14758623 R/L ]

C 14768532 R/L D | 18254637 R/L |
The exhaust manifold is connected to part of the TSC

A Gas inlet casing B | Intermediate casing o

C Turbine casing D | Blower casing ]

Governor is used in HHP loco

A GE Governor B | WW Governor |

C |BothAandB D | None of the above B
How many traction motors are in WDP4 loco é@—ggco)?

A Jo6 B Jo4

C 02 - ~|D |08 ﬂ
Length of WDG4/WDP4g loco over buffer plate is ,

A [19964mm  [B [238000mm |
C [20000mm__ [D | 21000mm - ]

B



59. Model of WDG;, loco is

A GT 46 MAC B GT 46 PAC
C Both A and B D None of the above
60. Number of brake blocks in HHP loco is
A 24 B |12 -
& 08 D None of the above

61. What is the synonym of COERCE?

A Enchant B Pressurize
C Cajole D | Leave
62. Select the most appropriate word to fill in the blank.
His Company has the of producing the best cricket balls in the country.
A | Opinion B [Band ] ®
C Reputation D | Position - N
63. What is the antonym of EXPANSION?
A [ Inflation B | Augmentation ]
C Extension D | Compression |

64. Which among the following is the wrongly spelt word?

A Calander B Career
C Callous D | Carriage

65. Select the most appropriate option to substitute the undertined segment in the following
sentence. If no substitution is required, select No improvement.

The workers of this textile factory demand higher wages for a long time.

A have been demanding higher wages | B | demanded higher wages
C No improvement D has demanded higher wages

66. Select the most appropriate meaning of the given idiom.

To play ducks and drakes

A To use recklessly B | To change places
C To be friendly D | To act cleverly

67. Given below are four jumbled sentences. Select the option that gives their correct order.

& A& The café’s owner says he’s interested in conservation and hopes customers will realize
the animals are worth saving, eventhough they often have a bad reputation.

ﬁ} 47 None of them are venomous, meaning customers can get up close and personal with the .
reptiles.

(- K~ Here you sip your drink in the company of 35 snakes.

p L~ This café, which has just opened in Tokyo, is not for the faint hearted.

y A | DBCA B | DCBA
7 |c [AcpB D |ABDC

W/
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In the following passage some words have been deleted, fill in the blanks with the help of the alternatives
given. Select the most appropriate option for each blank.

Seoul’s city government is asking people for help to correct poorly translated street signs with prizes on

offer for (1) who spot the most errors. It's running (2) two-week campaign calling on Koreans
and foreigners (3) to keep their eyes peeled for (4)___in English, Japanese and Chinese text, the
Korea Times reports. There's a (5) focus on public transport signs, maps and information signs

at historic sites as part of a drive to improve the experience of foreign tourists in the South Korean
capital.

68. Select the most appropriate option for blank no.1

At B [those
C |that D | these ]

= 1 T = T

69. Select the most appropriate option for blank no.2.

A_lone B [the -
C an D |a

70. Select the most appropriate option for blank no.3.

A same B similarly
C alike D | likely

71. Select the most appropriate option for blank no.4.

A guffaws B | blunder
C oversight D | mistakes

72. Select the most appropriate option for blank no.5.

A particular B | important
C signifying D | meticulous

73. Select the word which means the same as the group of words given.
A person, animal or plant much below the usual height.

A Wizard B | Dwarf

e B

| C Creature D | Witch

74. Select the option in which the words share the same relationship as that shared by the given
pair of words.

Horses : Neigh
A | Ducks : Quack B |[Parrots: Bray ' |
C ‘Hares : Boom D | Pigs : Buzz ]

75. Four words have been given, out of which three are alike in some manner and one is different
Select the word that is different

A [inteligence ~ [B [Weight

|C_|Aptitude ~ |D [Memory
76. The HCF of two number is 12. Which one of the following can never be their LCM?

A |72 S - N - T

C 19 . |D |84 ]
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78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

The mean proportion of 169 and 144 is

A

156

B

| 147

C

126

D

| 165

)

]

The length and breadth of a rectangle are increased by 8% and 5% respectively. By how much

percentage will the area of the rectangle increase”?

A

13.4%

B

15.4%

C

12.4%

D

16.4%

Rs.2500 when invested for 8 years at a given rate of simple interest per year amounted to

Rs.3725 on maturity. What was the rate of simple interest that was paid per annum?

A

6%

B

6.125%

C

6.25%

D

5.875%

3

P and Q can complete a project in 15 days and 10 days respectively. They started doing the
work together, but after 2 days, Q had to leave and P alone completed the remaining work. In

how many days was the whole work completed?

A |11 s B [12 ]
C 13 __|b |10 ]
During Special Disability leave, full salary is granted for a period of days.
A 100 B |90
C 120 D [130
Leave Not Due during the entire service is limited to a maximum of days.
A 120 B | 300
C 240 D | 360
Period of suspension, unless reviewed, shall not be valid beyond days.
A 90 B |60
C 120 D [180

Non-employment certificate for payment of Subsistence Allowance during the period of

suspension shall be submitted in Standard Form No.

W/

A SF.1 B [SE3
C SF.6 D |SF.7
When is a Higher Class Pass issued? ‘
A On Scouts & Guide account B | For cultural functions
Cc On medical grounds D | None of these
Break journey is not permissible in case of
A Transfer pass B | School pass
C Settlement pass D | Post retirement complimentary pass
A retired Railway servant should not act as Defense Helper in more than cases at a time.
A 4 B |6
C 2 D |7
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88.

89.

90.

8.

92.

g93.

94.

5.

96.

97.

98.

99.

Subletting of railway quarters is violation of of Railway Services (Conduct) Rules
1966.

A [ Rule No.9 ~[B [Rule15A ] |

| C | Rule 13A D |Rule13 B |

Any statement by a Railway servant embarrassing the relations between Central Government

and State Government is in violation of
1966.

of Railway Services (Conduct) Services,

‘A [RuleNo9 /B [RueNo3 -

'C |RueNott D |[RuleNo.15 }
Communication of Official information in accordance with Right to Information Act 2005 is
permitted under of Railway Services (Conduct) Rules 1966.

EK' RuleNo9 B B | Rule No.4 i - )

| C Rule No.11 | D | RuleNo.10 -
The S.1. unit of refractive index is

A Meter B | Centimeter B

C Watt D | No unit
The liquid metal is
A Bismuth B | Magnesium

Cc Mercury D | Sodium ]
Which of the following is not a primary colour?

A Red B Blue

C Green D | Yellow
Endothermic reactions are those in which

A heat is evolved B heat is absorbed

C temperature increases D light is produced
Which colour of light is deviated least?

A [Red ‘ 1B Bl ]

C Violet D | Green ]
The acid present in gastric juice is

A Hydrochloric acid i | B | Citric acid -]
C | Sulphuric acid D | Acetic acid ]
Which blood cells are called ‘Soldiers’ of the body?

A [ wBC B B B | Platelets ]
c |rRBC D [Aloftheabove ]
Which of the following is the first calculating device?

‘A [Abacus ~ |B |calcuator

C [ Turing machine | D |Pascaline —

Who among the following is considered as the ‘Father of Artificial Intelligence’?

A [Charles Babbage

e

[B [LeeDeForest

]

(V%]



| C | John McCarthy | D | JP Eckert s |
100. Which was the world’s first successful electronic computer?
'A [ PARAM i B | CRAY-1
C Pascaline D ENIAC Electronic Numerical

Integrator and Computer

101. The Official Languages Act was passed in the year

A 1964 B | 1965
C 1963 D |1967
102. On passing of which examination conducted by the Hindi Training Scheme, Personal pay will
be given?
A Prabodh B Praveen
C Pragya D | None of the above
103.  On which-date was Part XVII of the Constitution passed in Parliament?
LA -1 14.09.1949 B | 19.04.1949 B
LC 14.04.1949 D | 04.09.1949 -

104. Sections 6 & 7 of The Official Languages Act do

not apply to which State?

A Haryana B Madhya Pradesh
C Maharashtra D Jammu & Kashmir
105. How many articles are there in Part XVII of the Constitution?
A 8 B |9
C 7 D |6
106. How many members are there in the Committee of Parliament on Official Language?
A 10 B |20
C 30 D |25
107. What is the periodicity of the meetings of Official Language Implementation Committees?
A Every month B Once in 2 months
C Once in 6 months D | Once in 3 months

108. What is the Foreign Language included in the Eighth Schedule?

A Nepali

B

Mythili

C Santhali

D

Bodo

109. What is the name of the Hindi -in-house magazine published by Hindi Section, Divisional

Office, Southern Railway?

A Dakshin Dwani

B

Mandal Mathuri

C Pallavika

D

Swarna Deepika

110. Who is the Chairman of Town Official Language

Implementation Committee, Chennai?

A GM

B

SDGM

C ADGM

D

DRM

W/
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